UGC NET 2021 Labour Welfare

Topic:- Labour Welfare Set1_A
) Which one of the following frameworks emphasizes the positive and free-will aspects of
human behaviour and utilises concepts such as expectancy. demand and Incentive in
explaining the complexities of human behaviour in organisations?

(1) Behaviouristic framework (2) Social learning framework

(3) Organisational learning framework  (4) Cognitive framework
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[Question ID = 5028][Question Description = Q01_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20112]
2. 2 [Option ID = 20113]
3. 3 [Option ID = 20114]
4. 4 [Option ID = 20115]

2)  Which one of the following 1s NOT related to job specification?
(1) Hazards (2) Job title
(3) Physical efforts (4) Working condition
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[Question ID = 5029][Question Description = Q02_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20116]
2. 2 [Option ID = 20117]
3. 3 [Option ID = 20118]
4. 4[Option ID = 20119]

3)  Which section of the Factories Act, 1948 requires the manager of every factory to maintain

register of adult workers?
(1) Section 60 (2) Section 62
(3) Section 64 (4) Section 73
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[Question ID = 5030][Question Description = Q03_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20120]
2. 2 [Option ID = 20121]
3. 3 [Option ID = 20122]
4. 4 [Option ID = 20123]
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) The primary purpose of which of the following 1s to protect minmimum labour standards and

1mprove working conditions?

(1) Protective Labour Legislation (2) Regulative Labour Legislation
(3) Social Security Legislation (4) Wage Legislation
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[Question ID = 5031][Question Description = Q04_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20124]
2. 2 [Option ID = 20125]
3. 3 [Option ID = 20126]
4. 4 [Option ID = 20127]

5 Who among the following is empowered for framing of model rules for safety measures under

the provisions of the Building and Other Construction Workers' (Regulation of Employment
and Conditions of Service) Act, 19967
(1) The State Government (2) The Director-General

(3) The Central Government (4) The Central Advisory Committee

Fr=feafign 5 © i 929 e "f= FER (T # A v T 6 o) At 1996 # wea
T U % Aes e % i e i 27

(1) = TFR (2) wEFETE
(3) g T (4) T TEEERT At

[Question ID = 5032][Question Description = Q05_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20128]
2. 2 [Option ID = 20129]
3. 3 [Option ID = 20130]
4. 4 [Option ID = 20131]

6) How much space per worker 1s required to avoid overcrowding in a factory, as per the

provisions of the Factories Act, 19487

(1) 14.2 cubic meter (2) 14.6 cubic meter
(3 16.2 cubic meter (4) 16.4 cubic meter
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[Question ID = 5033][Question Description = Q06_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20132]
2. 2 [Option ID = 20133]
3. 3 [Option ID = 20134]
4. 4 [Option ID = 20135]

7)
Which Article of the constitution of India upholds to secure and protect a social order which

stands for the welfare of people as a Directive Principles of State Policy?

(1)  Article 20(c) (2)  Article 38(i)
(3)  Article 24(c) (4) Article 18(c)
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[Question ID = 5034][Question Description = Q07_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20136]
2. 2 [Option ID = 20137]
3. 3 [Option ID = 20138]
4. 4 [Option ID = 20139]

8) Comparative cost advantage in Heckscher-Ohlin's International Trade Theory, arises due to :
(1) Differences in factor endowments (2) Absolute cost advantages
(3) Economies of scale (4) Relative cost advantages
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[Question ID = 5035][Question Description = Q08_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20140]
2. 2 [Option ID = 20141]
3. 3 [Option ID = 20142]
4. 4 [Option ID = 20143]

%) A means of getting better results from organisation team and individual by understanding

an agreed framework of planned goals. objectives and standard 1s termed as :

(1) Performance Planning (2) Performance Management

(3) Performance Appraisal (4) Performance Development
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[Question ID = 5036][Question Description = Q09_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20144]
2. 2 [Option ID = 20145]
3. 3 [Option ID = 20146]
4. 4 [Option ID = 20147]

10 . . .. . .
) An analysis by which an organization measures where 1t currently stands and determines

what it has to accomplish to improve its HR functions 1s called :
(1) HR Accounting (2) HR Climate
(3) HR Audit (4) HR Consultant
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[Question ID = 5037][Question Description = Q10_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20148]
2. 2 [Option ID = 20149]



3. 3 [Option ID = 20150]
4. 4 [Option ID = 20151]

1) As per the provisions of the Industrial Employment (Standing Orders) Act. 1946 the standing
orders shall come into operation on the expiry of how many days from the date on which
authenticated copies are sent to the employers and workers representatives :

(1 Fifteen days (2) Thirty days
(3) Sixty days (4) Seven days
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[Question ID = 5038][Question Description = Q11_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20152]
2. 2 [Option ID = 20153]
3. 3 [Option ID = 20154]
4. 4 [Option ID = 20155]

12 . . .- . .
) Taking into account the characteristics of transnational managers given by Bartlett and

Ghosal, the transnational managers are distinguished in three different management forms.
Which one of the following is NOT included in the three forms of management?
(1) Global business management (2) Worldwide functional management

(3) Geographic subsidiary management (4) Top-level corporate management
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[Question ID = 5039][Question Description = Q12_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20156]
2. 2 [Option ID = 20157]
3. 3 [Option ID = 20158]
4. 4 [Option ID = 20159]

13) As per the provisions of the payment of wages Act, 1936, when any deduction is made by an

employer, the employee shall make application to the authority for recovery of the same
within a maximum period of which of the followings?
(1) Three months (2) Six months

(3) Twelve months (4) Two years
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[Question ID = 5040][Question Description = Q13_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20160]
2. 2 [Option ID = 20161]

3. 3 [Option ID = 20162]
4. 4 [Option ID = 20163]

14) The term ‘CE-RO-AC-AE’ explained as concrete experience-reflective observation-Abstract

conceptualization-active experimentation is associated with which of the following?

(1) Kolb's eyclic model of learning (2) Huber's organisational learning model

(3 Senge's generative learning model (4) Argyris's ‘double-loop’ learning model
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[Question ID = 5041][Question Description = Q14_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20164]
2. 2 [Option ID = 20165]

3. 3 [Option ID = 20166]
4. 4 [Option ID = 20167]

15) Which one of the following 1s NOT related to off-the-job training?
(1) Multiple management (2) Management games
(3) Sensitivity training (4) Special projects
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[Question ID = 5042][Question Description = Q15_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20168]
2. 2 [Option ID = 20169]
3. 3 [Option ID = 20170]
4. 4 [Option ID = 20171]

16)
Who is considered as the pioneer to introduce Human Resource Development Concept in
India?
(1) Prof. T.V. Krishnamurthy (2) Azimji Premji
(3) Udai Pareek and T.V. Rao (4) N.R. Narayanmurthy
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[Question ID = 5043][Question Description = Q16_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20172]
2. 2 [Option ID = 20173]
3. 3 [Option ID = 20174]
4. 4 [Option ID = 20175]

7) " Which among the following is NOT a component of accident?
(1) Unplanned event (2) Loss of human life or personal injury
(3) Damage to property (4) Warranted event
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[Question ID = 5044][Question Description = Q17_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20176]
2. 2 [Option ID = 20177]
3. 3 [Option ID = 20178]
4. 4 [Option ID = 20179]



18) Read the statement given below :

Ifthe workers have no staying power and the only alternative to work is starvation, the
supply of labour will be in general :

(1) Perfectly inelastic
(2) Perfectly elastic
(3) The supply will fluctuate from inelastic to elastic
(4) The statement initselfis wrong
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[Question ID = 5045][Question Description = Q18_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20180]
2. 2 [Option ID = 20181]
3. 3 [Option ID = 20182]
4. 4 [Option ID = 20183]

19)

What items are typically included in the Job-Description?

(1)
(2)
(3)
(4)

It is a written statement about the wage and salary administration
It is an oral instruction about the standing order of the organisation
It 1s a written statement of what the worker actually does

It is an oral instruction about the Job to be performed
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[Question ID = 5046][Question Description = Q19_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20184]
2. 2 [Option ID = 20185]
3. 3 [Option ID = 20186]
4. 4 [Option ID = 20187]

20)

Ac

(1)
(2)
(3)

(4)

cording to the book “The Third Wave' which one of the following is related to third wave?

The Agricultural revolution that transformed the human history
The Industrial revolution that transformed the society

The Technological and social change that transformed organisations, societies and
economies

The Environmental change that transformed the entire business world and market
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[Question ID = 5047][Question Description = Q20_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20188]
2. 2 [Option ID = 20189]
3. 3 [Option ID = 20190]
4. 4 [Option ID = 20191]

21)  Which of the following concept determines the activity status of a person with reference to a

period of proceeding seven days?

(1) The usual status (2) The current weekly status
(3 The current daily status (4) Chronic unemployment
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[Question ID = 5048][Question Description = Q21_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20192]
2. 2 [Option ID = 20193]
3. 3 [Option ID = 20194]
4. 4 [Option ID = 20195]

22) The finance for Social Assistanceis generally provided out of the general revenues of
(1) Emplover (Z) Political parties
(3) Government (4)  All the above
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[Question ID = 5049][Question Description = Q22_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20196]
2. 2 [Option ID = 20197]
3. 3 [Option ID = 20198]
4. 4 [Option ID = 20199]

23) . . . : Sreep
In which year Joint Consultative machinery and Compulsory Arbitration in Government

Department was established?
(1) 1956 (2) 1959
(3) 1962 (40 1965
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[Question ID = 5050][Question Description = Q23_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20200]
2. 2 [Option ID = 20201]

3. 3 [Option ID = 20202]
4. 4 [Option ID = 20203]

24 : ; : : i
) The 1inerease 1in unemployment that occurs during recession and depression 1s called :

(1) Frictional unemployment (2) Structural unemployment

(3) Cyclical unemployment (4) Seasonal unemployment
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[Question ID = 5051][Question Description = Q24_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20204]
2. 2 [Option ID = 20205]
3. 3 [Option ID = 20206]
4. 4 [Option ID = 20207]

25 3 : : . :
) Under which section of the Industmal Disputes Act. 1947 a retrenched workmen can be given

an opportunity to re-employment?

(1) Section 256H (2) Section 256G
(3) Section 25F (4) Section 25C
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[Question ID = 5052][Question Description = Q25_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20208]
2. 2 [Option ID = 20209]
3. 3 [Option ID = 20210]
4. 4 [Option ID = 20211]

26)
When workers remain in their place of work. but they stop work for a brief period of a few

minutes or a few hours it 1s called

(1) slow-down strike (2) sit-down strike
(3 quickie strike (4 work to rule
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[Question ID = 5053][Question Description = Q26_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20212]
2. 2 [Option ID = 20213]
3. 3 [Option ID = 20214]
4. 4 [Option ID = 20215]

27)
Which one of the following is not sub-processes of collective Bargaining negotiation according

to Walton and McEersie?

(1) Distributive Bargaining (2) Integrative Bargaining

(3) Intra organisational Bargaining (4) Concession Bargaining
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[Question ID = 5054][Question Description = Q27_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20216]
2. 2 [Option ID = 20217]
3. 3 [Option ID = 20218]
4. 4 [Option ID = 20219]

28 i .
) “Scheduled employment” referred to in section 12 of the Payment of Bonus Act, 1965 means

the scheduled employment stated in which one of the following legislations?

(1) The Payment of Wages Act (2) The Industrial Disputes Act
(3) The Minimum Wages Act (4) The Payment of Bonus Act
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[Question ID = 5055][Question Description = Q28_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20220]
2. 2 [Option ID = 20221]
3. 3 [Option ID = 20222]
4. 4 [Option ID = 20223]

29) What is the time limit for payment of wages, in case of termination of employment of an

employee, as per the provisions of the Payvment of Wages Act, 19367

(1) Before the expiry of the second working day from the day on which his employment is
terminated

(2) Before the expiry of two months after the day of termination

(3 Before the expiry of the second working day of the next wage period

(4) On the last day of the wage period on which the employee was terminated from
empolyment
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[Question ID = 5056][Question Description = Q29_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20224]
2. 2 [Option ID = 20225]
3. 3 [Option ID = 20226]
4. 4 [Option ID = 20227]

30) The cost of living index number is taken into account in connection with which of the

following acts?

(1) The equal remuneration act (2) The payment of bonus act

(3) The minimum wages act (4) The payment of wages act
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[Question ID = 5057][Question Description = Q30_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20228]
2. 2 [Option ID = 20229]
3. 3 [Option ID = 20230]
4. 4 [Option ID = 20231]



31)
What should be the minimum size of number of representatives in the Joint Management

Council?
(1) Six only (2) Eight only
(3) Twelve only (4) Sixteen only
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[Question ID = 5058][Question Description = Q31_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20232]
2. 2 [Option ID = 20233]
3. 3 [Option ID = 20234]
4. 4 [Option ID = 20235]

32) In which year the federation of Indian Chambers of Commerce and Industry (FICCI) was
formed?
(1) 1881 (2) 1905
(3) 1927 (4 1931
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(1) 1881 (2) 1905

(3) 1927 (4) 1931
[Question ID = 5059][Question Description = Q32_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20236]
2. 2 [Option ID = 20237]

3. 3 [Option ID = 20238]
4. 4 [Option ID = 20239]

33 i : ; ; ; S el
) In which Industral Policy Resolution the following statement 1= given?

“In a socialist democracy. labour is a partner in the common task of development and should
participate in it with enthusiasm™?

1) The Industrial Policy Resolution, 1947

(2) The Industrial Policy Resolution, 1948

(3) The Industrial Policy Resolution. 1951

(4 The Industrial Policy Resolution, 1956
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[Question ID = 5060][Question Description = Q33_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20240]
2. 2 [Option ID = 20241]
3. 3 [Option ID = 20242]
4. 4 [Option ID = 20243]

34) Which approach suggests that there i1s no best way to handle any of the management

problems and there 1s no best organisational structure to suit all situations?



(1) Quantitative approach (2) Contingency approach

(3) System approach (40 Behaviourial approach
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[Question ID = 5061][Question Description = Q34_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20244]
2. 2 [Option ID = 20245]
3. 3 [Option ID = 20246]
4. 4 [Option ID = 20247]

33) Control Involves evaluation of inputs and taking measures before a particular sequence of

operations is completed i=s called?

(1) Feed back control (2) Concurrent control

(3) Feed Forward control (4) Historical control
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[Question ID = 5062][Question Description = Q35_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20248]
2. 2 [Option ID = 20249]
3. 3 [Option ID = 20250]
4. 4 [Option ID = 20251]

36) . .
Who suggested a comprehensive social system approach to management?
(1) Laurence Peter (2) Mary Parker Follet
(3) Elton Mayo (4) Chester Barnard
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[Question ID = 5063][Question Description = Q36_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20252]
2. 2 [Option ID = 20253]
3. 3 [Option ID = 20254]
4. 4 [Option ID = 20255]

37 Taylor advocated functional foremanship is to introduce :
(1) Standardisation (2) Work study
(3) Specialisation (4) Motion study
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[Question ID = 5064][Question Description = Q37_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20256]
2. 2 [Option ID = 20257]
3. 3 [Option ID = 20258]
4. 4 [Option ID = 20259]

38) “The belief that conflict is a natural and inevitable outcome in any group” is assoclated with
which of the following?

(1) Human relations view of conflict (2) Traditional view of conflict

(3) Interactionist view of conflict (4) Modernistic view of conflict

oz T T T Tl 2= =1 oo vF arEeaE e &7 fefates O o e metie 2

(1) @94 & 9T HaY H FuHm (2) TET = WA ZeEm
(3) o = FAEAE FEw (4) TEd w1 A e

[Question ID = 5065][Question Description = Q38_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20260]
2. 2 [Option ID = 20261]
3. 3 [Option ID = 20262]
4. 4 [Option ID = 20263]

39) Explaining motivation as a psychological process which of the following suggests that
“Performance leads to satisfaction™

(1) Herzberg's two factor theory (2}  Vroom's expectancy theory
(3 Porter-Lawler Model (4) Adam’s Equity Theory

HTROT T 2R Ud A G Uiddl & w9 7 &3 g Feiad - 4 &1 I8 e[ aa1 2 & Fsed

FwghE w2t
(1) SAa &1 B-"eh FET (two factor) (Z) g BT IR WIEW (Expectancy)
@) UR-dleramEd (FiE) (4) TSAB AR &1 ST (Equity)

[Question ID = 5066][Question Description = Q39_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1

[Option ID = 20264]
2.2

[Option ID = 20265]
3.3

[Option ID = 20266]
4. 4

[Option ID = 20267]

40) Leader-Member relationship. degree of structure and leaders position. power are dimensions

of which of the following leadership theory?
(1) Group exchange theory (2) Contingency theory
(3) Path-goal leadership theory (4) Trait theory
frefetas & 7 79 F9 g 7 Fqa-aee T8, T A, T9e 6 T, T v s

Zeerg B 7

(1) = fafmE fage (2) FATRFEEHAT 1 TgE
(3)  ATF-=%F g F fageE (4) = = fagm

[Question ID = 5067][Question Description = Q40_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20268]
2. 2 [Option ID = 20269]
3. 3 [Option ID = 20270]
4. 4 [Option ID = 20271]



41) Consider the following statements under the Minimum Wages Act, 1948 and identify the

combination of false statements.
(A) In relation to any schedule employment. only the State Government is deemed to be
the appropriate government

(B) A person who engages workers through another person, like a contractor 1s not
deemed to be an employer

(C) “Wages” doesnot include the value of any house accommodation but include house
rent allowance

(D) “Schedule employment” means an employment specified in the schedule under the act

Choose the correct answer from the options given below :

(1)  (A). (B) only
(2)  (B). (D) only
(3) (A (C)only
@  (C). (D) only

AT AEgl AEEE, 1948 F A HEerad 59 W HEn wOAR Ted F9E 5 T H T

() T sEgeE FEEE 99§ FEe T9d SO S TR % F § A 7
(B)  =I% =AfFa =1 (S%Har F1 aE) A= =Aiq F A H FETR F AA0G9 FAl 2, FEE T8 e
T |
(C) “mwgh H ol wEEE-smEEen 1 go9 wiee TE 21 2 Ty SEA AeE 0 9w anhe e
3
1

15

(D)  wrgtEm FE W Ak -ug T F 2 A et F Aaa ey | AR 2

e fou v fashedi 4 © WA 3 1 = HIfAT

(1) = (A). (B) (2) = (B). (D)
(3) = (A). (C) (4) == (C). (D)

[Question ID = 5068][Question Description = Q41_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20272]
2. 2 [Option ID = 20273]
3. 3 [Option ID = 20274]
4. 4 [Option ID = 20275]

42) Which three of the following are the main objectives of performance appraisal?

(A) Improving the job performance and identify potentialities of employees
(B) To identify the needs and areas for further training of the emplovees
(C) To promote the grievances among the employees

(D)  To make the compensation plan move rationally linked with performance

Choose the correct answer from the options given below :

(L (A). (B) and (C) only
(2)  (A). (B) and (D) only
(3)  (B). (C) and (D) only

(49 (A). (C) and (D) only

TouTEA geaTeA & 9 I5EvAl & o fefatad § § #E §H Sy B 7

(A)  FHEATIER § gaE AT FHEE 5 e i T e



(B)  FHINE F I WA F AU AmEvEmae s 8 i ueEe |

(C) =Tl = o= forehr=al = Taga e

(D) g == = e F WY Teag G 5T I ST

= fau o fawedt 4 9 T91 I W 99a Fifan

(1)  =ad (A), (B) #1 (C) (2) == (A), (B) #it (D)

(3) @ (B). (C) 3 (D) (4) F= (A). (C) 7 (D)

[Question ID = 5069][Question Description = Q42_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20276]
2. 2 [Option ID = 20277]
3. 3 [Option ID = 20278]
4. 4 [Option ID = 20279]

43)  Consider the statements in connection with the deductions which may be made from wages

under the provisions of the payment of wages Act, 1936

(A) Deductions for absence from duty
(B) Deductions for house- accommodation supplied by the employer

(C) Deductions for payment to cooperative societies as approved by the appropriate

governments
(D) Deductions for payment to the Employee Welfare Fund

(E) Deductions made with written authorisation of the employed person for contribution

to the Prime Minister's National Relief Fund

Choose the correct answer from the options given below :
(1) @A), (C).(D).(E) only
2)  (A). (B).(C).(D) only
(3 (A). B .(C).(E) only
(4 (B).(C).(D).(E) only

Tt e AfafEm, 1936 & TEEE % A9 gugi § ¥ il T weAaa $ ey § e o © fEw

il

(&) FE T wuiEgE F o f T w2

(B) T gr1 Suetsy FTE TS AERE HiEu1 % G694 A i T H2rdi|

(C) Tl wfafaai =1 9qf=a T0FR gAT 397 SHATET 1 T2 WA & 569 5 F1 72 Fd |
(D)  =H= e [ = o e T g & wEy 8 w2 |

(E)  worme T8 9emd Y § HWEE ® o s siea o ol e | =i TS 2|
I f2v @ TaeTt § § TR 39 9 999 FIa

(1)  Fa4 A). (). D). (E) (2) = (A), (B). (O), (D)

3  F= A). B). (C). (B) (4 F4 (B), (C), D), (B)



[Question ID = 5070][Question Description = Q43_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20280]
2. 2 [Option ID = 20281]
3. 3 [Option ID = 20282]
4. 4 [Option ID = 20283]

44)

Consider the statements in connection with any dispute to the amount of gratuity payable to
an emplovee under the payment of Gratuity Act, 1972

(A)

(B)

(©)

(D)

(E)

If the amount of gratuity payable by an employer is not paid by the employer within
the specified period

Where there is a dispute with regard to the determination of payment of gratuity. the
employer or employee raising the dispute may make an application to the controlling
authority for deciding the dispute

The controlling authority is required to conduct an inquiry and without giving a
reasonable opportunity of being heard. determine the matter under dispute

The controlling authority shall direct the employer to pay such amount as reduced by
the amount already deposited by the employer

The controlling authority shall pay the amount deposited, including the excess
amount deposited by the emplover to the person entitled to

Choose the correct answer from the options given below :

(1
(2)
(3)
(4

(A). (B). (D). (E) only
(). (B). (C). (D) only
(B). (C). (D). (E) only
(A). (C), (D). (E) only

IE[ HEE AtaEE 1972 % sreara FRHl RS R e I A % O9iud B a0 gey o
FeffiEd F9E W = 1

(A)
(B)

(©)

(D)
(E)

Ifz H2q IUgF T F g e g faie sata #w dfie T G s 2

FEl I I BeF TN H Hane % geg § # G 2 oA fFEee s s o m G| %
T 7 Fremm-mferrd 1 sEeT F Ao o faae v w2

W TEEH T U e A F e w2 o o gEee o+ shia s i faafem e
=1 e = |

T WA fETear =1 gd § S SR T T R T ST UET T S Y e o e 9 |

THH U] U AT B A GRS S TR HATge TS Hted S SR TS A0 e
= |

= fau o ol |4 | wA 39 w0 =99 Firaw

(1)
(3)

34 (A). (B). (D). (E) 2 Fa9 (A). (B). (C), (D)
Fa= (B). (C). (D). (E) (4) == (A), (C), (D), (E)

[Question ID = 5071][Question Description = Q44_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20284]
2. 2 [Option ID = 20285]
3. 3 [Option ID = 20286]
4. 4 [Option ID = 20287]

45)

Consider the following statements in connection with the constitution of State Welfare

Boards under the provisions of the building and other construction worker's (Regulation of
Employment and Conditions of Service) Act, 1996.

(&)

(B)
(C)

The state Building and other construction worker's welfare Board shall be a body

corporate having perpetual succession
The Board shall consist of a chairperson to be nominated by the State Government

Not Exceeding fifteen members may be appointed by the State Government as



members of the Board

(D) The Board shall include an egual number of members representing the State

Government, the emplovers and building workers

(E) At least one member of the Board shall be a women

Choose the correct answer from the options given below:

(1)  (A). (B), (C). (D) only
(2)  (B).(C), (D), (E) only
(3) (A (C), (D). (E) only
4 (A). B). (O. (D). (E) only

Yo U9 1 A FETE (T H S v mar-ud ) Atatas 1996 % TEgE & sed e

FoA] GS1 % T4 § Haigd HEengd w9 W e #H e

(A)  T=F WaH UF 3 TAAT FET FoAT 91S (ot SEHE 9Tl U G e we |

(B) @S 4 79 BIHE g1 AHA fRU S 9 Aeae mige w7 |

(C) =1 % Ted & =9 1 1= g Fepwa fru =1 oA 9 gz ee O i 79 2|

(D) =S 1 T=F TN, Tt a9 oA FEE w1 GaEe 6 9 fEe A 5 2
(E) =S H #9-5-=9 TF He Hiza 7l |

Hr9 f3m o foeeat | | TE I w1 = FI

() == (A). (B). (O). (D) (@) =9 (B). (C). (D). (E)

(3) F=E (A (©). D). (B) (4) F (A). B). ©). D). (B)

[Question ID = 5072][Question Description = Q45_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20288]
2. 2 [Option ID = 20289]
3. 3 [Option ID = 20290]
4. 4 [Option ID = 20291]

46)  Name three important reasons in the role of selection for organisations effectiveness.

(A) Work performance and the willingness to work
(B) Skilled employees in the organisation
(C) Cost incurred in recruiting and hiring personnel

(D) Involvement of representatives of union

Choose the correct answer from the options given below:

(1)  (C). (D) and (A) only
(2) (B). (C) and (D) only
(3) (D). (A) and (B) only

(4 (A). (B) and (C) only

T F1 THEEEFA & =g 997 1 qEE A5 AEeagn e & A Ao

(A)  FE-ToET A7 = w1 F T



(B) T H I wAEEI
(C)  =iteeht = il va Fae 5 o =

(D) =9 % WidteE =i dferma

Hr f3u Tu faeal § | wE 3w == i

1) &= (C). (D) 3 (A) (2) Fa (B). (C) 37 (D)
(3)  Fa= (D). (A) 3 (B) (4) FF= (A), (B) 31 (C)

[Question ID = 5073][Question Description = Q46_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20292]
2. 2 [Option ID = 20293]
3. 3 [Option ID = 20294]
4. 4 [Option ID = 20295]

47
) Which among the following are theories of Labour Welfare?

(A) Theory of Adequacy of wages
(B) Philanthropic theory

(C) Trusteeship theory

(D) Theory of Efficiency

(E) Theory of Responsibility

Choose the correct answer from the options given below:
(1) (A) and (B) only
(2) (B) and (D) only
(3) (B) and (C) only

(4) (D) and (E) only

fferfiaa 5 9 41 Feam = fog@ a3 27

(A)  TEgh Fi I9gFaE B Hg|
(B) ey fagma
(C)  =ariEan =1 fagm

(D) =& /Foea # ga

(E) == = fagm

= feu o faseui 1 © TE 3 %1 9 Fifu

(1)  F9 (A) 377 (D) (2) Fa= (B) @ (D)
(3)  FAA (B) ¥ (C) (4) F== (D) 3R (E)

[Question ID = 5074][Question Description = Q47_Laborwel_SHAAN_05Dec21_S2_Shift2]



1 [Option ID = 20296]
2 [Option ID = 20297]
3 [Option ID = 20298]
4 [Option ID = 20299]

A W N -

48 ; ; 2 4
) Which of the following statements are correct so far as the provizsions of the Employees

Provident Fund and Miscellaneous Provisions Act, 19527

(A) It makes provision for pension scheme including family pension
(B) It makes provision for Employees’ Deposit linked insurance scheme

(C) The provisions of the Employees’ Provident Fund Act are not applicable to the

cooperative socleties employing less than forty persons working with the aid of power

(D)  There is no wage ceiling under the Employees’ Provident Fund and Miscellaneous

Provisions Act. 1952

Choose the correct answer from the options given below :
(1)  (A). (B only

(2)  A). D), (C)only

(3)  (A).(B). (D) only

4) (0. (D) only

FE aF AR Siaw Fig va v sy offatEm, 1952 % I9edl #1999 2, Heenad § § #E-8

FYH A A7

(A) =% 9iEr YvE GfEd 9 H G S o arEEE e A |

(B) ¥ FHEEI WHI-Hedg S A % 0 gEaE W |

(C) =l wia= ffa wfafem & waam fagga i gema @ =o1 arell gl affaar 5 @i

=1fa o =0 FaifE 2, 33w w79 2 2

(D) =R s g vg TR Sgey saEE, 1952 % S quei 1 HiE SAEEE 6 7 |

= faw o fapeai o @ wE I 1 =EA FifE
1)  Fa (A), (B) (2) Fa (A), (D). (O)
(3)  F9 (A B). D) (4 = (C). D)

[Question ID = 5075][Question Description = Q48_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20300]
2. 2 [Option ID = 20301]
3. 3 [Option ID = 20302]
4. 4 [Option ID = 20303]

49) Which three of the following items the works committee may normally deal with as per

approved list of the Indian Labour Conference?

(A) Conditions of work such as ventilation. lighting, temperature and sanitation
including latrines and urinals

(B) Safety and accident prevention. occupational diseases and protective equipment

(C) Bonus and profit sharing

(D)  Adjustment of festival and National Holidays



Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2) (A). (B) and (D) only
(3) (B). (C) and (D) only
(4) (A). (C) and (D) only

freafafgs 7 & 9 &9 9gg F 9RdE 49 SeH & SAied e $ AIER SEEH H O AEaR W
ZETi-

(A)  wW i TEafaat SufF gamee (Faer w0, w6 STEeE e S v a9 g 6

e Y == |
(B)  HuE 3 gHA 1 TR, T st sitt guaf soe

(C)  ==g 3t =g § femardt

(D)  TEEA HA TS A gHEsH |

dr= feu o fapeat ® @ w1 I 1 =5 i

(1) === (A). (B) #7 (C) (2) T4 (A). (B) 51 (D)

(3) F== (B). (C) 7 (D) (4 F== (A). (C) 31 (D)

[Question ID = 5076][Question Description = Q49_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20304]
2. 2 [Option ID = 20305]
3. 3 [Option ID = 20306]
4. 4 [Option ID = 20307]

50)

Consider the following statements under the contract Labour (Regulation and Abolition) Act,

1970

(A) Gazetted officers of Government are to be appointed as registering officers.

(B) The Licence issued to a contractor 1s transferable.

(C) A licence issued to a contractor may be revoked if it 1s found that the licence was
obtained by misrepresentation of or suppression of any material facts.

(D) An aggrieved person may within thirty days from the date on which the order is
communicated to him. prefer an appeal before the appellate officer

Choose the correct answer from the options given below:

(1)  (A).(B). (C)only

(2) (B). (C). (D) only

(3) (A). (C). (D) only

(4) (A). (B). (D) only

1 #m (fafea vg semmea) statem, 1970 % st FefetEa waa w = =+

(A)  TFE T TAUEE A F THEE A % =0 6 e e ame E |

Py ST o = TR T S TeN e R



o B AR L T SRS S — o AT

(C) Tl Zehem =1 It wsgm g B = "1 @ AR v UE 9 2 TR SEEE i eeayul aua
1 T FHERT 2 AT AR T R T 2
(D)  difsa =afF, 39 9= 0 wAEw =i f6ta we = F dm G dim adisim st aee wdE

F HFAT & |

Hr fou U fahedl # H HEE IUgEd IO R = R

(1)  Fa (A), (B), (C) (2) &= (B), (C), (D)
(3) FAF (A). (C). (D) (4 FT= (A). B). D)

[Question ID = 5077][Question Description = Q50_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20308]
2. 2 [Option ID = 20309]
3. 3 [Option ID = 20310]
4. 4 [Option ID = 20311]

1) Who among the following are Neo-Classical Economists:

(A) Marshall
(B) James Mill
(C) Pigou

(D) Dawvid Ricardo

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only
(4) (C) and (D) only

Frefeiiaa 5 9 9 Ta-aEE s B ¢

¢

A)  mEE
S R

©

(D) sfas st

4= & o fawedl § § geE SuEE I =EA I

(1)  =ad (A) F(B) (2) == (B) 31 (C)

(3)  Faw (A) I (C) (4) = (C) ¥ (D)

[Question ID = 5078][Question Description = Q51_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20312]



2. 2 [Option ID = 20313]
3. 3 [Option ID = 20314]
4. 4 [Option ID = 20315]

52) Consider the statements in connection with the registration of certain establishments under

the Inter-State Migrant Workmen (Regulation of Employment and Conditions of Service) Act,
1979.

(A) Every principal employer of an establishment to which the Act applies, shall within
the specified period make an application to the registering officer in the prescribed
format for registration.

(B) The principal employer is required to pay the fees along with the application for
registration.

(C) Ifthe registering officer is satisfied that the applicant was prevented by sufficient
cause may entertain the application even after the expiry of the period.

(D) Ifthe application is not complete in every respect, shall be summarily rejected.

(E) Ifthe application is not so complete, the registering officer shall return the same to
the principal emplover of the establishment.

Choose the correct answer from the options given below :

(D (&) ®B). (C). (D) only
@ (@A), ®B). (). (E) only
@  (&A).®). (E) only

(4 (B).(C). D). (E) only

AAT=IF TEAH FHIR (TR H [9EEE v TEn od) wfafem, 1979 F e Faud gt &
TSR % ey § e wyE w e i

(A) Tl ufqem % wersw wam T, e sifatEe o) e 2, oS 2g fafz oo 9 ot

Sttt = U fafHiee staty = diar e o |
(B)  wu™ TRt B U 2 37EEA WY S ek B YEE I R S 2 2
(C)  =fe U= ATl 36 =d | G & % AEE® T o | UHiE TE w0 e E Al gn Aaiia
(D)  afg straed =+t whw & qot 7 2 a1 s e = fgn =
(E) =% smae B TR 1 ol 99 R @ s st 30 wiasE F 0ae S F e 2|
i fau U el °§ © GEl 3 %1 9EA iAo
(1)  F== (A). (B). (C). (D) 2) FF (A), B). (C), (E)
3 ¥ (A). B). (B) (4) F=a9 (B). (C). D). (E)
[Question ID = 5079][Question Description = Q52_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20316]
2. 2 [Option ID = 20317]

3. 3 [Option ID = 20318]
4. 4 [Option ID = 20319]

33) Which among the following are the hidden costs of industrial accidents?

(A) Worker distraction
(B) Paper work

(C) Wages

(D) Spoiled work

(E) Loss of efficiency due to break-up of crew

Choose the correct answer from the options given below :

. A S S P -



L
(2
(3
4

Lot (D) alld () OINY
(A). (B) and (E) only
(B). (C) and (D) only

(C). (D) and (E) only

et # 7 i st g o e 57

(A)

(B)

(C)

(D)

(E)

Ji= fou v fasew A4 9 9E I w1 =EA i

(1

(3)

Fae (A). (B) 311 (C)

Fae (B), (C) #i (D)

(2) F= (A), (B) #F (E)

(4) F== (C), (D) 1 (E)

[Question ID = 5080][Question Description = Q53_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20320]
2. 2 [Option ID = 20321]
3. 3 [Option ID = 20322]
4. 4 [Option ID = 20323]

54)

Which among the following are the determinants of the demand for labour?

(A)
(B)
(C)

D)

Wage rate
Productivity
Non-wage aspect of the job

Prices of other inputs

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)

&)

(A) and (B) only
(B) and (C) only
(C) and (D) only

(B) and (D) only

o i " % o Feiean § 9 FE g w5 R

(&)

(B)

(©)

P

L



(D) HA HATH =hl o q

Fra fou o faeqi @ @ gEE U T F T A

(1) =3 (A) 3 (B) (2) e (B) 3 (C)

(3)  Fa« (C) ¥ (D) (4) FF= (B) ¥ (D)

[Question ID = 5081][Question Description = Q54_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20324]
2. 2 [Option ID = 20325]
3. 3 [Option ID = 20326]
4. 4 [Option ID = 20327]

33) Identify the four emerged dimensions that differentiate national cultures in terms of their

managerial ideologies from the study conducted by Laurent.

(A) Organizations as political systems

(B) Organisations as social systems

(C) Organisations as authority systems

(D) Organisations as role formalization systems

(E) Organisations as hierarchical -relationship systems

Choose the correct answer from the options given below :

(1) (A). B). (C). (D) only
2 (B).(C). D). (E) only
(3)  (A).(C). (D). (E) only

(4) (A). (B). (D). (E) only
Tz T A M HEAAS 5 SET TEAEE Qe+ Hed § M9 Fen O S HE 9 9% A
F1 TE=E |
(A)  TEHIEE 99 % =9 9 58
(B)  HEINAH 99 * B H TS
(C)  TIfase 9 % =9 ° T2
(D) g Al a9 % =9 9 @1

(E) #9-T00 T84 a9 & =9 § "3

fr fou o Tt ® ¥ T 3w = A

(1)  Fa (A), (B), (C). (D) (2) = (B). (C). (D), (E)
(3)  F9 (A), (C), (D). (B) (4) Fa (A). (B), (D). (E)

[Question ID = 5082][Question Description = Q55_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20328]
2. 2 [Option ID = 20329]
3. 3 [Option ID = 20330]
4. 4 [Option ID = 20331]

36) The three basic procedures of behaviour modeling involves:



(A) Modeling. Trainees watch live or video examples showing model behaving effectively

in a problem situation. Thus, the video night show a supervisor effectively disciplining
subordinate

B) Role playing. The trainee get role to play in a simulated situation theyv are to practice
the effective behaviour demonstrated by the models.

() Social reinforcement. The trainer provides reinforcement in the form of praise and
constructive feedback.

(1n)] Transfer of employees from one department to ancther

Choose the correct answer from the options given below :

(I (A). (B) and (C) only
(2)  (B).(C) and (D) only
(3)  (C).(D) and (A) only
(49)  (A). (B) and (D) only

SRR ieEa 1 @ gEEE A d e 2o

(A) T T i fEul 9 wew uigEw % wuEl SHEER R S9N 9 H9 R HeiE wuEr fEree

AR % T OIOET T4 9 F | 39 WER 3H fAisal °H 98 SWE S Gl § UAHEE e TR

o Tl W et B T ® T aqeniad w2 |

(B) T FEEA-umy e uhtea § s girw W tEE v oF o ogfE o e = 2 o=

(C) =TI TAYad- T A7 THATeH HISe (THT o E9 | W A TEE i E |

(D) ==l = T v e g g e § e |

= fau o fameat ° @ wE = = = A
(1) =4 (A). (B) i (C) (2) = (B). (C) #1 (D)
(3  F= (C). @) AR (A) (4 F (A), (B) A (D)

[Question ID = 5083][Question Description = Q56_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20332]
2. 2 [Option ID = 20333]
3. 3 [Option ID = 20334]
4. 4 [Option ID = 20335]

57 : L S ; : ; ;
) Which three-tier system of participation was recommended by a Tripartite committee on

workers. participation in 1977 under the chairmanship of Sri Ravindra Verma?
(4)  Umnt Level

(B) Shop Floor Level

(C) Plant Level

(D) Corporate Level

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only
(2) (A). (C) and (D) only
(3) (B). (C) and (D) only

(4 (A).(B)and (D) only



oAt wefivg =ml i sreAsET § 99 1077 § I ) iaerar gedt o afata gen seataa afae

=1 F1-%a{ 7 (three-tier system) i &1 27

(A T ER
(B) 9 ¥R (TWAel) TR
(C) =5 =

(D) fm==

= o o fasedl § @ geE SF I F1 WA I
(1) =39 (A), (B) 31 (C) (2) FA (A), (C) #iT (D)

(3)  Fa@ (B). (C) 31 (D) 4) Fa (A), (B) =i D)

[Question ID = 5084][Question Description = Q57_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20336]
2. 2 [Option ID = 20337]
3. 3 [Option ID = 20338]
4. 4 [Option ID = 20339]

>8) By merger of which two Associations of Engineering Industries in 1974, the Association of
Indian Engineering Industry (ATEI) came into existence?

(A) The Engineering Association of India 1895
(B) The Engineering Association of India 1942
(C) The Engineering Association of Bombay 1948

(D)  The Engineering Association of India 1938

Choose the correct answer from the options given below :

(1) (A)and (B) anly
(2) (A) and (C) only
(3 (B) and (C) only
(4)  (C) and (D) only

SHIAENT SSET % A 2 HEl H 1794 § e B % T UHIEuIE 316 SSE SR SsE (T AT
2 S e §

(A) 2 SHIET uEifbueE ST S, 1895

(B) =2 sSifaaioT wHifbwsE #irE s, 1042

(C) = SHIF-ET THIkwse HT% s 1948

(D) = SHAIEIT CHEuE 3% Fehar, 1938

Hi= fau U faepel 9 © =R I 1 = i

(1)  Fa9 (A) 57 (B)

P S S S S T ot



L)t At WA A

(3)  Fa9 (B) ¥R (C)

(49)  Fa4 (C) 7 (D)

[Question ID = 5085][Question Description = Q58_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20340]
2. 2 [Option ID = 20341]
3. 3 [Option ID = 20342]
4. 4 [Option ID = 20343]

59)  Which three of the following are covered under the context, described by John T. Dunlop in

his Industrial Relations system?

(A) the technological characteristics of the workplace and community
(B) the product and factor markets or budgetary constraints

(C) the network or web of rules in the country

(D) the locus and distribution of power in the larger society

Choose the correct answer from the options given below :

(1 @. (B). (C) only
2y (&) (B). (D) only
3y (B).(C), (D) only

4 (A (C), (D) only

r

FH. A, AT T o A TEy 9 4 F T =wew F aed 1 fetes § @ = odE o=

[ Sy
~ iq?"l =41 R —

(A)  FEEIH AR FEEE F AeAriEhE A
(B)  I0UIE UH HETE WINE AYE] A WA
(C) == ° " Jza au fmi =1 5=

(D)  =I9% TOTH ¥ TIHF F Fg vE Hgam

Hre 13U U faheql 4§ WE I 1 == I

(1) === (A). (B), (C)
(2)  Fa4 (A), (B) (D)

(3) ¥ (B). (C). (D)
(@) === (A). (C). (D)

[Question ID = 5086][Question Description = Q59_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20344]
2. 2 [Option ID = 20345]
3. 3 [Option ID = 20346]
4. 4 [Option ID = 20347]

60)
While translating the theory of trusteeship into action, Gandhijee ha= advised which three
steps?

(A) Persuasion



(B) State Legislation
(C) Dispossession and Nationalisation

10]] Concentration of Economic Power

Choose the correct answer from the options given below :

() (A). (B) and (C) only
(2)  (A). (B) and (D) only

(®  ®).(C)and (D) only
4  (A),(C) and (D) only

=iiaT % firgia 1 = =d T9F T A 5 dW = i oweE 6 R

(A)
(B)
(©)

(D)

53

(1)
(2)
(3)

(4)

HTA49H

-

=g W FEE

SEEe] T I

fom U fohedl ® © wEE ST I B W A

F99 (A), (B) 371 (C)
Fa (A), (B) 311 (D)
Fa= (B). (C) 31 (D)

F95 (A), (C) 311 (D)

[Question ID = 5087][Question Description = Q60_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20348]
2. 2 [Option ID = 20349]
3. 3 [Option ID = 20350]
4. 4 [Option ID = 20351]

61)

Which of the following three methods as suggested by Sidney and Beatrice Webbs can be
used by the trade unions against the capitalists?

(A) Mutual Insurance

(B) Collective Bargaining

(C) Political Actions

(D) Legal Enactments

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3) (A, (B) and (D) only
(4 (&) (C) and (D) only

fasit =ik #fifzm a=8 g/ 79 wEfaa FefatEa 5 9 B 99 aglie = S g g9 gm SieaA &

g

(A)

(B)

o = AT 27
e ST



(C) T e
(D) foaeh wfatEms

=9 fav o faseat 9 | HE 39 1 =99 Firaw

(1) Fa (A), (B) 31 (C)
(2)  F= (B), (C) 31 (D)
(3) 9 (A), (B) 5 (D)

(4  FF (A), (C) 5 (D)

[Question ID = 5088][Question Description = Q61_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20352]
2. 2 [Option ID = 20353]
3. 3 [Option ID = 20354]
4. 4 [Option ID = 20355]

62 . .
) Which three of the following welfare schemes the State Government may formulate and

notify from time to time for unorganised workers under the unorganised workers social
securlty Act, 20087

(A) Provident fund

(B) Skill upgradation of workers
(C) 0ld age protection

(D) Funeral assistance

Choose the correct answer from the options given below :

(1) (A (B). (C) only
(2)  (A). (B). (D) only
(3)  (B). (C). (D) only
4 @) (), D)only

SETST T WEIAE G Afafem, 2008 F Said AEied wE % o fefafma §w 9 3
Q)  wfE= FE

(B)  FHHAR H FIT AT

(C)  Fgra=u wEm

(D) AT TEEE

= fau o faweul 5 | w9 I # =99 Fian
(1)  Fa (A), (B), (C)
(2)  F=A (A). (B). (D)
(3) Fa= (B), (C). (D)
(4)  Fa= (A), (C). (D)

[Question ID = 5089][Question Description = Q62_Laborwel_SHAAN_05Dec21_S2_Shift2]



1 [Option ID = 20356]
2 [Option ID = 20357]
3 [Option ID = 20358]
4 [Option ID = 20359]

A W N -

63)  Arrange the following in the process of Job Analysis.

(A) Understanding the relevance of Job analysis
(B) Collecting information
(C) Design the Job

(D)  Processing the information

Choose the correct answer from the options given below:

(1 D). A).B.©)
2 (A). (B (). D)
(3) (&) ©). B). D)

@ (0. @A), B). D)

Fr fagerm 1 9fFme % 9HEN 7 Feeg o

(A)  HE favemm % FEe i wEHEA
(B)  IEAE UFA A
(C) =/ g Fe

(D) I F FENGA AT

= f2u Tu a5 | wE I F =9 FIie

(1 D). @A), ®B.©)
2 @W. 3. ©).D
(3) @). (O, B). D)
@ (0. @A) ®B. D

[Question ID = 5090][Question Description = Q63_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20360]
2. 2 [Option ID = 20361]
3. 3 [Option ID = 20362]
4. 4 [Option ID = 20363]

64 : ; 3 5
) Which three types of emplovees are included in the definition of IHRM by P.Morgan?

(A) Host-country National
(B) Parent country National
(C) Third country National

(D)  Domestic country National

Choose the correct answer from the options given below:



(1) (A). (B). (C) only
2 @).(C). (D) only
(3)  (B).(C). (D) only

4  @.([B). D) only

. AP g TS U AR UH i ORI ° T A T s et i w8

(A)  TFEF =W AR
(B) =% 23 w1 AFIH
(C) == 291 F1 iTH

(D) =] 3 T A

Fr= f5u U fashedt 8 9 wE I o == i

(1) F= (A). (B), (C) @) #=a (A). (C). (D)
(3) F= (B). (C). D) (4) F== (A). (B). (D)

[Question ID = 5091][Question Description = Q64_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20364]
2. 2 [Option ID = 20365]
3. 3 [Option ID = 20366]
4. 4 [Option ID = 20367]

65)  The “family” 1s relation to a male employvee under the provisions of the payment of gratuity

Act, 1972 1includes

(A) The employee himself, his wife and children
(B) The children of his predeceased daughter
(C) The dependent parents of the employee

(D) The children of his predeceased son

(E) The dependent parents of his wife and the widow

Choose the correct answer from the options given below:
(1)  (A). @B). (C). (D) only
(2) (4. (C). (D). (E) only
(3) (A). (B). (D). (E) only
(4) (B). (C), (D). (E) only

UM FeE AfatEE, 1972 % TEUE i HE 9 FwEEE F g9d ¥ uiEn | e 3

(A) AN =, IER O U a=

B) o A a8 F T



(C)  =¥=m = #ATHE Jrar-Toar
(D) 9% THd 3 F T

(E) =5l Ui = ATee wren-Tuar ug soehi feagen

= fou o faseut 9 9 wE I 1 = Fi

(1)  F&= (A). (B). (C). (D) (2) A (A). (C). (D). (E)
(3 FF Q). B). D). (B) (4 F4 (B). (C), D), (B)

[Question ID = 5092][Question Description = Q65_Laborwel_SHAAN_05Dec21_S2_Shift2]
1 [Option ID = 20368]
2 [Option ID = 20369]
3 [Option ID = 20370]
4 [Option ID = 20371]

A W N -

66)  Match List I with List IT : Regarding stratification of work force.

List I List IT
(4) Low performance low potential (I)'  Work Horses
(B) Low performance high potential (IT) Stars
(C) High performance low potential (IIT) Deadwood
(D) High performance high potential (IV) Problem child

Choose the correct answer from the options given below:

(1  (A)-dD. B)-(IV). (C)-1)., (D)-(ID
2  (A)-aV). (B)-(I). (C)-ID). (D)~
(3)  (A)-dID. B)-(IV). (C)-(ID), (D)-D
4  A)-aD. B@)-1). (C)-AV), (D)-I1D)

T 1% =y gt 11 =1 foers Fifae . Ffae & st & g6y |

g1 =11
(A) = T e e @O = =
(B) = FoaEa =3 aua I ==
(C) === e = aman (I) ss9s
(D) =3 (uarEa =3 sma (IV) ¥ieeH =50

Hre fou v fashedi 4 © W 3T 1 == I

(1) (A-IID. (B)-AV). (C)-(D). (D)-(ID)
2 (A)-IV). (B)-(II). (C)-(D). (D)-T)
(3)  (A-dID. (B)-IV). (C)-(D). (D)-@)
@  (A-dD. B)-D). (C)-(IV). (D)-(1II)

[Question ID = 5093][Question Description = Q66_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20372]
2. 2 [Option ID = 20373]



3. 3 [Option ID = 20374]
4. 4 [Option ID = 20375]

67)

Match List T with List IT :
ListI TistII
(A) Expectancy theory (I Stacy Adams
(B) ERG theory (II) Harold H. Eelley
(C) Equity theory (IIT) Clayton Alderfer
(D) Attribution theory (IV) Victor Vroom

Choose the correct answer from the options given below:

O (A-aV). B)-dD. (O)-@. (D)-D
@  (A-O. ®-aD. (©)- D). (D)-IV)
@ (A-aD. B)-@. (C)-IV), (D)-(I)
4 (A)-ID, B)-AV). (C)-(D). (D)D)

T |6 HY H 1 H A Hifo

-1 -1
(A) e & g {0 TeH asH
(B) % am o fAga (II) ETeg T, Hel
(C) H=rar & fgia (III) Fefed AeaThml
(D) o g V) fAagr
=1 3 0 fAeed! - W HE I @ 994 Sy

(D (A)-IV). (B)-II), (C)-@). (D)-(11)
2 (&)-@. B)-ID). (O)-dID), D)-(IV)
@  (A)-1D). B)-0). (O)-AV). (D)-(1)
(9 (A)-1D), (B)-AV). (C)-(ID), D)-(D)

[Question ID = 5094][Question Description = Q67_Laborwel_SHAAN_05Dec21_S2_Shift2]

1. 1 [Option ID = 20376]
2. 2 [Option ID = 20377]
3. 3 [Option ID = 20378]
4. 4 [Option ID = 20379]
68) : s i
Match List I with List IT :
List I List IT
(A) Games People Play (I} Eric Berne
(B) I am ok-vou are ok (II) Robert L. Kahm
(C) Johari Window (III) Thomas A. Harris
(D) Role set theory of organisation (IV) Joseph Luft and Harry Ingham

Choose the correct answer from the options given below:

(1)  A)-aV). (B)-1). (C)-(I), (D)-I1L)
(2)  (A)-(ID. (B)-ID). (C)-(D). (D)-(IV)
(3)  (A)-D). B)-IV), (C)-ID). (D)-(T)
@ A-D. B-UD. (O)-IV). (D)-(ID)



=11 % =1 g=-I1 1 e fifsm

T I i 11
(A) T e @ R
(B) &S ©H 31 F- J WM AF (I = vE. FH
(C) r=h famst (IIT) @imm ©, 2f=
(D) = T2 ol 1T SRS (IV) SiEs o5 Us 2l 3am

= U v faseul ° 9 GE 3 #1999 FiAu

(D (A4)-IV), (B)-(T). (C)-(I0), (D)-(IIT)

(2) (A)-(IID). (B)-(II). (C)-(I). (D)-(IV)

(3 (A)-(ID), (B)-(IV). (C)-(11I), (D)-(D)

(4) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(IL)
[Question ID = 5095][Question Description = Q68_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20380]
2. 2 [Option ID = 20381]

3. 3 [Option ID = 20382]
4. 4 [Option ID = 20383]

69 ; : i
) Match List T with Last IT
List I List IT
(Ttems of the Act) (Chapters in the Act)

(A) Authorities under the Industrial (I) ChapterIIB
Dispute Act

(B) Strikes and Lock-outs (I Chapter VA
(C) Grievance Redressal Machinery (IIT) Chapter IT
(D) Lay-off and retrenchment (IV) Chapter V

Choose the correct answer from the options given below:
(1) (A)-AV). (B)-(ID). (C)-(). (D)-(I)
(2) (A)-I1), (B)-(IV), (C)-(D. (D)-(IT)

(3)  A-D. (B)-(ID, (O)-(ID). (D)-(IV)
@  (A)-aD). B@)-1@). (C)-aV). (D)-(IID)

Tt I = @y gt 11 =1 faem ifae

I TI-1IT
wiaf=m % 92 sAtaf=m 4 e
(A) 3iEfTE e afatem F s aiEr () 9= OB
(B) wsAT™ AR AeAEEl (ID == VA
(C) Torpma gam i e (IIT) ==y 11
(D) =FHeEl AT DAl (IV) =15am V

fr= fau T AT 5 | wE I F = Fa



(1) (A)-@V). (B)-(II). (C)-(III). (D)D)

(2) (A)-IID), (B)-(IV). (C)-(D. (D)-(II)

(3) (A)-(D). (B)-(111). (C)-(1I). (D)-(IV)

(4) (A)-(ID). (B)-(I), (C)-(IV). (D)-(I1T)
[Question ID = 5096][Question Description = Q69_Laborwel_SHAAN_05Dec21_S2_Shift2]
1 [Option ID = 20384]
2 [Option ID = 20385]

3 [Option ID = 20386]
4 [Option ID = 20387]

A w N =

70)  Match List I with List II

List1 List I

(A) Voluntary reference of dispute to (I) Section- 9C

arbitration
(B) Prohibition of strikes and lock-outs (IT) Section - 256M
(C) Prohibition of lay-off (III) Section - 10A

(D) Setting up of Grievance Redressal (IV) Section - 22

Machinery

Choose the correct answer from the options given helow:

(L A-O. (B)-dID. (C)-(IV), (D)D)
(2)  (A-dD. B)-D). (O)-I1D). (D)-(IV)
(3)  (A)-aID. (B)-AV), (C)-D. (D)-@)
4 (A-@V). (B)-(D. (C)-(D. (D)-(IID)

T I T I I e Fifa

=1 -1
(A) TR =+ U faaE = Sees g2 (D g - 9 H
(B) wsAmEl U4 dremsiedl w qauy (I) uwr - 250
(C) a9 Wiy (II) =w - 10T
(D) forwrra foem 93 F1 g @IV) amr - 22

Ji= fau o faseui A4 @ gE 3 1 =EA i

(1) (A)-(D). (B)-(IID). (C)-(IV). (D)-(II)

(2) (A)-II). (B)-(I). (C)-(IID). (D)-(IV)

(3) (A)-(IID). (B)-(IV). (C)-ID). (D)-(D

(4) (A)-(IV). (B)-(1I). (C)-(@D). (D)-(I1I)
[Question ID = 5097][Question Description = Q70_Laborwel_SHAAN_05Dec21_S2_Shift2]
1 [Option ID = 20388]
2 [Option ID = 20389]

3 [Option ID = 20390]
4 [Option ID = 20391]

A W N -

71) " Match List I with List IT : Models of coping-defense mechanism

i T e TR A



1450 11

(A) Ageression (I) Inrritation, restlessness. and
violent/destructive

(B) Flight (II) Showing primitive behaviour

(C) Exploration (III) Denying any feeling of frustration

(D) Regression (IV) Giving reasons and explanations for
frustration

Choose the correct answer from the options given below:

(1) (A-aD. B)-D. (O)-(IID). (D)-(IV)
@ A-D. B)-IID. (C)-(IV), (D)-(L)
(3)  (A-IID. B)-AV). (C)-(D). (D)-L)
4 (A)-aV). (B)-ID). (O)-@). (D)-(11I)

Tt 12 o1g g=ft I =1 e it
71 1L
T =M UiaeY 1TeHE 3T Helad SHaEn
(A)  SATHEFAT ()  &frw, s7emE =i s e
B) TwEEH (I) AfTFEA =aan F 7294
(C) = (II) %=1 % Tt i wa o 5w
(D) Wi /9= (IV) 31 * HE0 ST AR THE 7

Hi fou o faeul 4 © E 3T H1 9EA iAo

(1)
(2)
(3)
(4)

(A)-(I1). (B)-(I). (C)-(ID). (D)-(IV)
(A)-(I). (B)-(IID). (C)-(IV). (D)-(II)
(A)-(TID). (B)-(IV). (C)-(I). (D)-(IT)
(A4)-IV). (B)-(D). (O)-@). (D)-(I1I)

[Question ID = 5098][Question Description = Q71_Laborwel_SHAAN_05Dec21_S2_Shift2]

A w N =

72)

1 [Option ID = 20392]
2 [Option ID = 20393]
3 [Option ID = 20394]
4 [Option ID = 20395]

Mach List I with List IT :

ListI List IT

MNC Organisational Model Structural Configuration
(4) Multidomestic (I) Centralised hub
(B) International (I) Coordinated federation
(C) Global (III) Decentralised federation
(D) Transnational (IV) Integrated network

Choose the correct answer from the options given below:

(1) A)-aV). (B)-(I). (C)-(ID), (D)-I)
@ A)-O. (B)-(IV). (C)-(1I), (D)-(ID)
(3)  (A-AD. B)-1D). (©)-D. (D)-IV)



(4)

(A)-(1I). (B)-(1). (C)-(IV). (D)-(11L)

-1 % =19 g=-11 1 e Fifm

(Aa)
(B)
©

(D)

a1
o, . . wsh S

Hi= fou v faseui A @ wE 3 F1 =EA iAo

(1)
(2)
(3)
(4)

[Question ID = 5099][Question Description = Q72_Laborwel_SHAAN_05Dec21_S2_Shift2]

(A4)-0V). (B)-(IID). (C)-(ID). (D)-(I)
(A)-(I), (B)-(IV). (C)-(IIT). (D)-(II)
(A)-(IID), (B)-(II). (C)-T). (D)-(IV)
(A)-(ID). (B)-(I). (C)-(IV). (D)-(I1D)

FI-11
(I) =wf== ==
(M) forrfrpa w2

1. 1 [Option ID = 20396]
2. 2 [Option ID = 20397]
3. 3 [Option ID = 20398]
4. 4 [Option ID = 20399]
73
) Match List [ with List I :
ListI ListIT
Trade Unions Founders President
{A) Textile labour association of Ahmedabad {I) Mahatma Gandhi
{B) Bombay Millhands Association I V.V. Giri
{C) AllIndia Trade Union Congress (III) Lala Lajpat Rai
{D) IndianTrade Union Federation (IV) N.M. Lokandey
Choose the correct answer from the options given below:
1 (A)-0. ®)-aD. (C)-IV). (D)-ID)
@  A-O. B)-AV). (C)-1ID), D)-ID
3 AMID, B)-@. (C)-IV). (D)-(1ID)
@ (A, B)-@). (C)-(I). (D)-(IV)
T=1-1 % Y g1 T fie
o= 1 =111
HiF oo TEATTF F1Eq8T
(A) FFEIIES e UHIUIE % AEHEEE @  TEre A
(B) == faet 23@ vHitGwEmA D =i =i, fi
(C) ot 3= 73 Frae wod (ITII) == =r=9a T
(D) = 7= A weEE (IV) v, TH. HiEs

= fiv o A |9 9 wE I o = I

(1
2

(A)-(@). (B)-(II). (C)-(IV). (D)~(III)
(A)-@). (B)-(IV). (C)-(I1). (D)(IL)




(3)
)

(A)-(11). (B)-(I). (C)-(IV), (D)-(11T)
(A)-(1D), (B)-(D). (C)-(ID). (D)-(IV)

[Question ID = 5100][Question Description = Q73_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20400]
2. 2 [Option ID = 20401]
3. 3 [Option ID = 20402]
4. 4 [Option ID = 20403]

74
) Match List T with List IT :
ListI List IT
(A) Person knows himself or herself and (I) Hidden self
about the other
(B) Person knows himself or herself but (II) Open self
does not know about the other person
(C) The person does not know about (III) Undiscovered self
himself or herself and does not know
about the other
(D) Person knows about the other but (IV) Blind self
does not know about himself on
herself
Choose the correct answer from the options given below:
(1) (A)-(I). (B)-(ID). (C)-(IV), (D)-(ILI)
(2) (A)-(I1I), (B)-(IV). (C)-(1I). (D)-(I)
(3) (A)-(IV). (B)-(III). (O)-(D). (D)-(ID)
4) (A)-1I). (B)-(I). (C)-(I1I). (D)-(IV)
Ti-1 = =19 -1 = e Fifem
TI-T LI
(A) =afFd 319 209 AU ZEU A B (D) =& 53N Al
(B) =afd 9+ A9 I A1 AT £ 9T A (D) e =fFaE
=qfdd % o1 § T2 A=A 2 |
(C) =afdd 9 A1 AT AY F FG4| £ AR A& (D) #57d AfFdca
(D) =afF 360 % 91 0 @ THaT § Wy A AW (IV) Y i

1 TE AT E |

J= fau o fawei O © oE = = 9 Fifaw

(1)
2)
(3)
(4)

(A)-(D). (B)-(ID). (C)-(IV). (D)-(IIT)
(A)-(III), (B)-(IV). (C)-(AD). (D)-(D)
(A)-(IV). (B)-(IID). (C)-(I). (D)-(IL)
(A4)-aD). B)-(D). (C)-(IID). (D)-IV)

[Question ID = 5101][Question Description = Q74_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20404]
2. 2 [Option ID = 20405]
3. 3 [Option ID = 20406]
4. 4 [Option ID = 20407]

75)

(A)

(B)

Match List I with List IT

List1

Internal coordination

External coordination

List IT

() Integration of efforts  between

superiors and subordinate working at
different levels in an organisation

(I) Coordination between different

department and persons within the



organlisatlon

(C) Vertical coordination (ITI) Coordination between an organisation
and its external environment

(D) Horizontal coordination (IV) Coordination between department or
positions or persons at the same level
of organisations

Choose the correct answer from the options given below:

(1 (A-dD. (B)-(ID). (C)-AV). (D)D)
(2)  (A)-D). B)-ID). (C)-ID). (D)-(IV)
(3)  (A)-ID, (B)-M). (O)-(IV), (D)-(IL)
4 (A)-aD. (B)-IV). (O)-O). (D)-(III)

-1 % = g=-I1 1 e i
i1 THI-IT

(A) AR TEEA (D T T | fAfgesn @ %W = H e
ST (4 AT % wi= TATE] U

(B) =r=a @H=A (ID) =2 = A=rg fatem fEarm = =fwan +
e gE=EE

(C) =t au=m (III) =34 997 35% S=g SaE & si= g

(D) #&fds Ta= (IV) =734 =l TAM T % (990 51941 9a) Agan

AT S T
g few o fael § ¥ o 3T % = Fiu

1 (A-dD. B)-(ID). (C)-IV). (D)D)
(2)  (A)-dD). (B)-IID), (C)-@). (D)-(IV)

(3) (A)-(IID, (B)-(D). (C)-(IV). (D)-(II)
(4) (A)-(ID). (B)-(IV). (C)-T). (D)-(IIT)
[Question ID = 5102][Question Description = Q75_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20408]
2. 2 [Option ID = 20409]
3. 3 [Option ID = 20410]
4. 4 [Option ID = 20411]

76) Arrange the following chapters in a sequence from the earliest to latest according to their

dates of amendments as per the I.D. Act, 1947
(A) Chapter VA
(B) Chapter ITA
(C) Chapter VB
(D) Chapter [IB

(E) Chapter VC

Choose the correct answer from the options given below :

(1 (B). D). A). (C). (E)
2 @).(B). (0. (E). D)
(3)  (@&). (). (E). B). (D)
4  (B).(C). D). (E). @A)

s e s, 1947 % s Feafan s B w0 Sa A e & s e 3

SIfa| & F9 § =aad F1-



(A)
(B)
(&)
(D)

(E)

I VA

wEE ILA

== VB

wA=E 1B

wF=E VO

= fou 7o faseTi 9§ wE 35 R = i

(1)
(2)
(3)
(4)

(B). (D). (A). (O). (E)
(A). (B). (C). (E). (D)
(A). (©). (E). (B). (D)
(B). (C). (D). (E). (A)

[Question ID = 5103][Question Description = Q76_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20412]
2. 2 [Option ID = 20413]
3. 3 [Option ID = 20414]
4. 4 [Option ID = 20415]

77)

Given below are the theoretical frameworks of HRD. Arrange these theoretical frameworks

according to their development from earliest to latest.

(A)
(B)
(©

(D)

The Integrated HRD System Approach
The Human Capital Appraisal Approach

The Strategic Framework Approach

The People Capability Maturity Model (P-CMM) Approach

Choose the correct answer from the options given below :

(1
(2)
(3)
4

(A4). (C), (D). (B)
(A). (B). (C). (D)
(B). (C). (A4). (D)

(4) D). (C). (B)

e wa TEeE e (w9 @R € i dgiia® GeE 3 T B | 5 Sgiiae eI F h [E 6

TEel § 379 OF % 0 0 saaiead & —

(&)

B)

©

D)

T AFETEAT e

iue Ffaeiite #=4f qisa (P-CMM) Ffehm

= fau o fameal O § wE = o= Fif

(1)
(2)

(A). (C). (D). (B)
(A). (B). (C). (D)



3  B.(C). A). D)

@  @). D). (). B

[Question ID = 5104][Question Description = Q77_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20416]
2. 2 [Option ID = 20417]
3. 3 [Option ID = 20418]
4. 4 [Option ID = 20419]

78) Sigmund Freud has discussed four phases of psychosexual development stages. Arrange the

stages according to development from beginning to end.
(A) Oral stage

(B) Phallic stage

(C) Anal stage

(D)  Genital stage

Choose the correct answer from the options given below :
(1) (B). (A). (C). (D)
(2) (A). (C). (B). (D)
(3  @). D). (). B
4  (B). (). D). A

s B/EE A gArETE [ % TRl % = S ] SgEe] i 7 | 39 =20 H ARE H Ad 9% 4 6

FH H =Hafead i -
(A)  TEE =
(B)  wTH T
(C) TEER

(D) S &

Hr f3u U fashedt 4§ |E 3 0 == i

(1) (B). (&), (C). (D)

(2) (A). (C). (B). (D)

(3) (A). (D). (C), (B)

(4) (B). (C). D). (&)

[Question ID = 5105][Question Description = Q78_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20420]
2. 2 [Option ID = 20421]

3. 3 [Option ID = 20422]
4. 4 [Option ID = 20423]

79) Arrange the five levels of training evaluation from the first to the last as given by Phillips.

(A) Learning
(B) Applied Learning on the job

(C) Return on Investment



(D) Business Results
(E) Reaction and Planned Action

Choose the correct answer from the options given below :

(L) (A). (B). (E). (C). (D)
(2)  (B). (O). (D). (A). (E)
(3) (D). (E). (A). (C). (B)
(4 (E). A). B). D). (C)

TR goATRA & 9T T (e % SHER 99n ° Afaw & %0 0 w0 |
(A  faEm

(B) M = @19 A= e

(C)  TEm w uidgemy

(D) ==E™ gl

(E) wiaf@an #i Farfsa
Fi= fou v faepeat 9 @ 9E I 1 == i

(1 (A). B (E). (C). (D)

2y (B).(©C). (D). (A).(E)

(3) (D). (E). (A). (C). (B)

4  (E). @) B). D). ()
[Question ID = 5106][Question Description = Q79_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20424]
2. 2 [Option ID = 20425]

3. 3 [Option ID = 20426]
4. 4 [Option ID = 20427]

80 : ; : ; :
) Sequentially arrange the following according to their emergence from the earhest to the

latest as given by Bolwijn and Kumpe
(A) The Innovative Firm

(B) The Efficient Firm

(C) The Quality Firm

(D) The Flexible Firm

Choose the correct answer from the options given below :
(1) (C). (B). (D). (A)
2  @.©O).3B.D
3)  (B. D). A).©)
4 B.0). 0. W

SAeATT AT FO F TIAF TR 39 996 396 A9 & w0 9 FHefiEd ® g



(B) AT TEEE
(C) T wiagH

(D) === THEE

4 f2u o fawed 6§ 9 I @ =ge i

(1) (©).(B). D). (A
2 @).(©),.[B. D)
(3)  (B). D). A). ()
4 (B).(C). M. A

[Question ID = 5107][Question Description = Q80_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20428]
2. 2 [Option ID = 20429]
3. 3 [Option ID = 20430]
4. 4 [Option ID = 20431]

81)  Arrange the following Indian Trade Unions/Organisations on the basis of their founding year

from earliest to latest.

(A) Indian Trade Union Federation

(B) The Indian Federation of Labour

(C) The Indian National Trade Union Congress
(D) All India Trade Union Congress

(E) Bhartiva Mazdoor Sangh

Choose the correct answer from the options given below :

(1) (D). A, (C). (B). (E)
2) D). A. B). (). E)
(3)  (A).(B).(C). D). (E)
@ (BE.@A).®.©). D

TAfetiaa At @at/aEaT #1 3% U 99 % B § UEY 3 AGH a9 Jan-

(A) === 73 g w=ER

(B) Tz 3= wstvm @ o

(€ T2 3T T9me 2= A weE

(D) @A =f=an 23 g wE

(E) wWdE 955 79

dr= fou o fapewt ® @ = T A i

1 (D). (A), (©). (B). (E)
@) (@D.A)).B). (). (E)



(3) (A (B). (L), (D), (B)
4 (E).(A). B). ©). D)

[Question ID = 5108][Question Description = Q81_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20432]
2. 2 [Option ID = 20433]
3. 3 [Option ID = 20434]
4. 4 [Option ID = 20435]

82) Arrange the five steps in developing Behaviourally Anchored Rating Scales (BARS) from the

beginning to the end.

(A) Scale eritical behaviour

(B) Develop BARS instrument

(C) Identify performance measures
(D) Retranslate critical behaviours

(E) Identify critical behaviours

Choose the correct answer from the options given below :

(1 (O (E). (D). (A). (B)
(2)  (E). (O). (B). (D). (A)
(3)  (E). (A). (C). (D). (B)
(4 (C). D). (B). (A). (E)

=TER FE §eAEA AFes (BARS) # FFEm FH F 99 TOONE H SRE H 59 F FA H

(A) = TR el
(B) == (BARS) svzr= famtam &
{C) il:qq qu:ﬁ-EE{Qna:FW

(D) i =qEERl g qiEidd e

(E) 4 =@zrl i 929 F

Hr= fou v faeat A O wE 35 1 = i

(L (O (E). (D). (A). (B)
2 (BE.(©). ([B). D). (A
(3)  (E). A). (©). (D). (B)
@ (©). D). (B). (A). (E)

[Question ID = 5109][Question Description = Q82_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20436]
2. 2 [Option ID = 20437]
3. 3 [Option ID = 20438]
4. 4 [Option ID = 20439]

83) Arrange the main schemes of workers participation in management according to their year of

formation from latest to earliest.

(A) Joint Management Counecil

(B) Shop Councils



(C) Board-Level Participation
(D)  Institutes of Employees, Participation in Management for Public Sector undertaking

(E) Works Committee

Choose the correct answer from the options given below :

(1 D). (B). (C). (A). (E)
(2) (B (O). (D). (A). (E)
(3)  (O). D). (A). (B). (E)
(4 (0. (B). A). D). (E)

TSHA H TR HEETRIAT Rl G AT Bl I ST 99 % SR 9 H G H IR 7 wEeg T
(A) =Y USNE TG
(B) e TiTg

(C)  ==—va% HEuTa

(D) HEHHAT 49 IUHH (00 GEET § HEEE] TEETar i e

()  fwio =

fr= f2u T faeeT 5 | wE 3 F =99 FIAw

(L D). B, (C). (A). (E)
2 (B, (©). (D). (A). (E)
(3 (C). D). (A). (B). (E)
@ (O).®B). A). D). (E)

[Question ID = 5110][Question Description = Q83_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20440]
2. 2 [Option ID = 20441]
3. 3 [Option ID = 20442]
4. 4 [Option ID = 20443]

84) Arrange in a segquence from first to last the schedules as mentioned in the Industrial

Disputes Act, 1947.

(A) Matters within the jurisdiction of Industrial Tribunals

(B) Unfair labour practices

(C) Industries which may be declared as public utility services
(D)  Matters within the jurisdiction of labour courts

(E) Conditions of service for change of which notice to be given

Choose the correct answer from the options given below :
(1) D). A).©).®B).(E
2 (BE). D). @A). >B).©)
(3) (€. D). (A). (E). (B)
4  (B). D). (A). (E). (C)

sttt e sfafem, 1947 | =@ segt = wam ¥ afqq 7 #9 9 @9



(&)
(B)
©
(D)

(E)

ST =T % S % A e

'-_Zq‘_'[i a\ a4 'jqa[_ 1

H F= T3 SArReEnl TEns i i 0 g gd &

T F1 94 T giEeA o fere g A W 2|

Fra fou e faweat § 1 =@ I o = il

(D
(2
(3
(4)

(D). (A). (C). (B). (E)
(E). (D). (A). (B). (C)
(C). (D). (A). (E). (B)
(B). (D). (A). (E). (C)

[Question ID = 5111][Question Description = Q84_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20444]
2. 2 [Option ID = 20445]
3. 3 [Option ID = 20446]
4. 4 [Option ID = 20447]

85)

The following are some of the committees and commissions set up in India to study the

problems of labour and to suggest measures. Arrange them in a sequence from the earliest to

lastest as per their vear of set up.

(A)
(B)
(©
(D)
(E)

Second National Commission on Labour
Royal Commission on Labour

Labour Investigation Committee
National Commission on Labour

Bombay Textile Labour Enquiry Committee

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(E). (B). (D). (C). (A)
(©) .(E). (B). (D). (&)
(B). (E). (C). (D). (A)
(D). (B). (A). (E). (C)

f= wwa ° wofid Fo @i SR aE F W e w A am i wmemen 1 aeER oI

TAFT AT | T TET A9 F TR W URIEE § WA 9% g

(A)
(B)
(©
D)

(E)

fgdfra wg 2w smm

S ST HETE

T HH AT

Hi fou U faweul 9 © TR 3 #1999 i

(1)
2

(E). (B). (D). (O). (&)

(C). (E). (B). (D). (&)



(3
(4)

(B). (E). (O). (D), (A)
(D). (B). (A). (E). (C)

[Question ID = 5112][Question Description = Q85_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20448]
2. 2 [Option ID = 20449]
3. 3 [Option ID = 20450]
4. 4 [Option ID = 20451]

86 . . . .
) Given below are two statements : one 1z labelled ag Assertion A and the other 12 labelled as

Reaszon R.

Assertion (A):  In the post economic reforms era. Indian business houses initially had to
take strong decisions in terms of cost cutting measures and human
resource rationalization.

Reason (R) : Economic reforms opened up markets and allowed foreign direct
investmnet causing the domestic industry to compete on uneven level
playing ground.

In the light of the above statements. choose the most appropriate answer from the options

ziven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 13 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) is correct

Hr 31 ue 3 U 2 v AfRE Assertion (A)fﬁ =9 ¥ foAfigd 2 a1 Q@Tm EAru Reason(R)%

ATFET (A) A Ul % WE % T H 9AAE SAEEEE S F e 8 HAd) e 6 e
AR T TEEE F TS H 5§ w0 o 1

0 (R) : AMAF a3 "R B e 2 AR e yea fem A oamma d e e
FETT = e & E 9 WAETEl S HHA A 92 |

W FY T A |, 49 50 0 e ¥ 8 wed S 3T R =8 i

(1) (A 3R (R) I T&T 7 310 (R), (A) il & =men 2 |

2 (A F R) A TR 7, @ (R), (A) = @81 = 16w |

(3) (AT 7, @ (R)FE T A

(4 Q)= R, = (R) w5 A

[Question ID = 5113][Question Description = Q86_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20452]
2. 2 [Option ID = 20453]
3. 3 [Option ID = 20454]
4. 4 [Option ID = 20455]

87)

Given below are two statements : one 1s labelled as Assertion A and the other is labelled as

Reaszon R.

Assertion (A): Disguised unemployment 1s present in Indian agriculture sector in India.

Rea=on (R) - Normally mareinal nroductiity of arriculture 1= hich.



In the light of the above statements, choose the most appropriate answer from the options

glven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) 1= not correct

(4) (A) 1s not correct but (R) 1s correct

= = #em 3w 2 u AfYEYs Assertion (A) % =0 H feffigd B A HI 3EF % %1 Reason (R) &%

ATFH (A) TR FT A T TS SO e 7
F9 (R) HIETA: FY H HE Scaehdl 3= =l # |

W U & ATEF °, = 150 0 fae Tl § § weE 30 I 99 i

(1)

(2)

(3)

(4)

(A) #N (R) 21 T&l & 31 (R), (A) 1 @& =amean 7 |
(A) 3 (R) 31 71 7, =i (R), (A) Fit 781 == 34 2 |
(A) 751 &, Sif R) TR T 7

(A) TF T 2 S (R) 99 R

[Question ID = 5114][Question Description = Q87_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20456]
2. 2 [Option ID = 20457]
3. 3 [Option ID = 20458]
4. 4 [Option ID = 20459]

88)

Given below are two statements : one 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (4) : Performance appraisal cannot be error free and unbiased.

Reason (R) : The appraisal methods are covertly influenced by human judgement which

may vitiated by inter-personal discriminatory impulses.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

4= @1 #ua 2T w E ;v AfgmYa Assertion (A) % =Y ¥ feifigd & A FH SEE % 1Y Reason (R)

FETH :



A (A) ; OIS =1 geAiEA e -Ted SiT 9aTH-TiEd T w5 w2 |

F9 (R) : geTA faften | w9 @ ueg faas g vl = 8 S gy sat-datas

T g S B HeaT |

ITF FYA T ATAE |, A B0 T e § 8 e I 3 =9 S

(1)

(2)

(3)

(4)

(A) 3% (R) A 74 £ #7 (R). (A) F1 57 =awe # |
(A) 3 (R) 3T 71 7, A (R), (A) Fi 7t == 751 2|
(A) =# 7, =i (R) 781 98 2 |

(A) T 7 2 =i (R) T 2

[Question ID = 5115][Question Description = Q88_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20460]
2. 2 [Option ID = 20461]
3. 3 [Option ID = 20462]
4. 4 [Option ID = 20463]

89)

Given below are two statements : one 1s labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Occupational diseases are those arising out of or in the course of
employment.

Reason (R) : It 1z a health problem caused by exposure to a workplace hazard. It 1s

caused by the substances or conditions that the worker was brought into

contact with at the workplace.

In the light of the above statements. choose the most appropriate answer from the options

given below : :

(1)
@)
(3)
(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 1= not correct but (R) is correct

ﬁﬁﬁmﬁqwﬁ:UFﬁaﬁﬁiﬁmﬂssertion(A);-ﬁ??ﬂﬁfﬁf@H%fﬁWﬂ%ﬁmReason(R)iﬁ

=
ATHA (A) : =T § S TN A T E e % Fe @ s % AR A R
=m0 (R) - q7 UF TERSA T & A FEEYE % @Al o 996 ° o7H § w2l £ | 9% 39 uerdr 4

feufaei & Hrw 2l & 599 SO 1 FEETE I 9T 1 S #

I A & ATAF °, J 150 0 faeT § ° weE S0 I 99 i

(1)
(2)

(3)

(A) #R (R) 31 w7t & AR (R), (A) 1 #& =ame # |
(A) 31 (R) 31 741 7, A (R), (A) Fi #t =amen 741 2|

(A) 751 &, =i (R) Tt 7 2 |



4) (A FFE T 2 A (R) TE R

[Question ID = 5116][Question Description = Q89_Laborwel_SHAAN_05Dec21_S2_Shift2]

A WN -

90)

1= = FeE 72U W 2 ;U ATYPYE Assertion (A) % =0 H feiima ® oA =0 3% F1 Reason (R) %

1 [Option ID = 20464]
2 [Option ID = 20465]
3 [Option ID = 20466]
4 [Option ID = 20467]

Given below are two statements : one 1s labelled as Assertion A and the other is labelled as

Reaszon R.

Assertion (A): Labour welfare 1s part of social welfare, both conceptually and

operationally.

Reason (R) : It covers state of well being. happiness. satisfaction. and conservation and

development of human resources.

In the light of the above statements, choose the most appropriate answer from the options

given below : :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

ATTFAT (A) A A ATARINHF ST T 21 32§ T Hed F w0 # |
F (R) : <o T HETA % A, TEA, T2 qo S i e A ety aftfe 2
W YA AT 4, A6 120 T e 8 6 g6 0w 3 R S e

(1)  (A) 3R (R) 391 781 3 31 (R). (A) i1 =& =a0e 2 |

(2)  (A) ¥ R) 3 T E, A R), (A) F FE == =

(3) (A) TE1 2, =it (R) T8l 971 2|

4 (A TEAE 2 R) TF F

[Question ID = 5117][Question Description = Q90_Laborwel_SHAAN_05Dec21_S2_Shift2]

A wWw N =

1 [Option ID = 20468]
. 2 [Option ID = 20469]
3 [Option ID = 20470]
4 [Option ID = 20471]

Topic:- Labour Welfare Set1_B

1)

Read the passage carefully and answer the question that follows:

Technology, these days has invaded every aspect of our lives. Infact, we now try to measure
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep. diet, heartbeat, breathing rate, steps taken,
water intake and everv conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market. Though
many of these applications are truly useful to measure health parameters like blood
pnressure. heart rate ete. for zilinge thev have bheoun to dominate the lives of neonle for



whom it becomes their personal health information guru. If the health parameters do not
mateh the desired outcome of the application thev are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring syndrome'. Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate yvour life.

Health devices are useful for

1)
2)
©)
)

Checking our moods
Keeping oneself fit and happy
Keeping a track of everyday activities like exercise, sleep ete.

Monitoring leisure and work activities
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Read the passage carefully and answer the question that follows:

Technology, these days has invaded every aspect of our lives. Infact, we now try to measwre
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,
water intake and everv conceivable aspect of life. Health and fithess is measured bv a



smart watch, fitness band and other wearable applications available in the market. Though
many of these applications are truly useful to measure health parameters like blood
pressure, heart rate etc. for ailing; thev have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
matech the desired outcome of the application thev are using, it causes anxietv and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health They
refer to it as the 'over monitoring syndrome'. Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
everyv human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoying the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate yvour life.

The advice of medical practitioners is that we should measure health by :

M
@

Physical fitness (2) Mental fitness
Social wellbeing (4) All the above

ffertiad e &l eagd & g 3N 0 & a9 S

e 21 Fa b 29 & - dielfiid & Haer 21 70 2 | 5oy o 92 2 (& 39 29 370 Ja & 22 U3
Bl ATAN A Iree] e HSTal F A9 A1 2 | 3T T JUE B FErar o 2 A0 T
=i Tafaremy & f2we v Hed £ 9 a1, 99, 599 & 99d, 319 =2, fha e =, o
T T S S $ 2 3 Beuy USe] | FOrEe 4 degwd] @l 219 HE 914, {hed 88 i ardn
ey g UREE JUSUIT ¥ T Wa & | 2Teiieh 3 O $5 SUe b A1 3N 539 & G9d
T T D B Hd J TG IUIME, UL 3 4 IUH A b wige g3 21 2 g 2 i
TG TAFTD T T T6 H T o g 2 | A T 6 G JUE & e qfiT & s
21 BT, a1 4 AT 3N 7 U= d 2 | ey $ o AU [Hfd I3 dTel | a1 FHh e
e & faresre off 21 ol & |

TS & Jedia $ U JUEm 07 29 PR @ &3 s e 9T 219 30

‘A R R & Ha = € 1 29 IR E1 SRS S AMHS Farey § Halad s 21w
AT I B T G T FUGW 6 P B @B qF B 8 [ B T ATING I Gy ar
B U F I H AT R A1 A2 S 2 AT US g W AW 2, 1 91 B SUR HE-Ha 2
a &A@ @ her o Thdl 2 | 354 U N T 32 2 6 Wal/ anard & el Tareed ard
AR gE—aT ¥ 2 w9 B dfEd & asd H W B0 3ATH B Fraa-g o o o | R
TAAE] B Helg 98 & [ Ta0 Siad & FEia $0 & 8N 2 AR, s T Jtes
HET, 7 {3 [T T3 & Foi | SHfE IUEU & F=rd H 994 B 3 I 319+ Sitgd 12 2t A

ET )

=

-

ThcHT =g ETEEt = Heils & 6 T & 3The 1 9% 5H1 =180

(1)  JWIF dgedl (2) WETEF drgeed!
(3)  =HIEF Foam (4) T T

[Question ID = 5119][Question Description = Q92_Laborwel_SHAAN_05Dec21_S2_Shift2]

1.1

[Option ID = 20476]

2.2

[Option ID = 20477]

3.3

[Option ID = 20478]

4. 4

[Option ID = 20479]
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Read the passage carefully and answer the question that follows:

Technology, these days has invaded everv aspect of our lives. Infact, we now tryv to measwure
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,
water intake and everv conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market. Though
many of these applications are truly useful to measure health parameters like blood
pressure, heart rate etc. for ailing; they have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not



mateh the desired outcome of the application they are using, it causes anxiety and stress.
Many health freaks end up with ohsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the 'over monitoring svndrome'. Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being is different. can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given bv medical practitioners is that a healthy
life is judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate vour life.

The drawbacks of health devices are :

(1) They are too bulky

(2) They are very costly

(3) They cause pressure and anxiety in users

(4) They are cause of too much distraction
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Read the passage carefully and answer the question that follows:

Technology, these days has invaded everv aspect of our lives. Infact, we now tryv to measwre
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleep, diet, heartbeat, breathing rate, steps taken,

water intake and everv conceivable aspect of life. Health and fitness is measured by a
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many of these applications are truly useful to measure health parameters like blood
pressure, heart rate etc. for ailing; they have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
match the desired outcome of the application they are using, it causes anxiety and stress.
Many health freaks end up with obsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health They
refer to it as the 'over monitoring syndrome'. Instead of listening to our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
everyv human being is different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoying the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life is judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate yvour life.

The ideal way to assess our health is by :

(1) Using health gadgets which measure all our parameter
(2) Talking to a doctor

(3) Listening to our body

(4) Asking family and health experts
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Read the passage carefully and answer the question that follows:

Technology, these days has invaded everv aspect of our lives_ In fact, we now try to measure
every aspect of our lives with gadgets and gizmos available in the market. These health
devices can track routine activities like sleen. diet. heartbeat. breathine rate. stens taken.



water intake and everv conceivable aspect of life. Health and fitness is measured by a
smart watch, fitness band and other wearable applications available in the market. Though
manv of these applications are truly useful to measure health parameters like blood
pressure, heart rate etc. for ailing: they have begun to dominate the lives of people for
whom it becomes their personal health information guru. If the health parameters do not
match the desired outcome of the application they are using, it causes anxiety and stress.
Many health freaks end up with ohsessive compulsive disorders.

Several psvchiatrists disapprove of our dependence on gadgets to asses our health. They
refer to it as the "'over monitoring svndrome'. Instead of listening te our own bodies, which
are the best judges of our physical and mental health, we look at the numbers on the gadget
to tell us whether we had a good workout or sufficient and restful sleep at night. Since
every human being iz different, can an application accurately match and measure the
parameters of each individual using it? Another downside is that instead of enjoving the
simple health benefits and pleasure of sport/workout, the completion of the target becomes
the focal point of the exercise. The advice given by medical practitioners is that a healthy
life iz judged by our physical, mental and social wellbeing and not machines of any kind. So
use gadgets judiciously and do not let them dictate vour life.

What becomes the focal point of exercise?

(1) Enjoyment of simple benefits of exercise

(2) Completion of target

(3) Pleasure of sport

(4) Pleasure of exercise

fAfertiad TeTel & eagd & g 3 09 & gav =

e 21 Fa b 29 & 2 dielfiid & w21 71 2 | 5oy o 92 & (6 3@ 29 370 Ja & 22 U2
Pl TN A Icree] e HSTEA1 H A9 A 2 | 3T T SUE B FErar o 2 a0 '
e nfarareay & f2Hd T Hed 2 S (a1, Wiod, §99 & 9ge, 2979 =, [P & Fo, [
T T 3R e F 2 3 Heag USe | T d argwd! @ A9 e aid, e 88 i aran
- ey 2y UREE SUSUIT ¥ T WIa & | 2Teliieh 3 & $5 SUe b A1 3N 539 & G9d B
T T D B Hd J TG JUIME, UL 3 4 IUH A b wig- g3 21 2 E i
TG AT T T T6 & T of 96 8 | A Ty 6 A4S U & e qfiT & sy
21 2T, a1 4 AT 3N 9 U= S 2 | Ty $ o AU [Hfd B dTel | a1 FHh e
PR & {3 off 21 o 2 |

FTES & Jedia F o0 FUEm 07 2 AR @ & HiafEeAd e T £ T 3w

‘AT g & e = € 1 &9 3NN B IS S S Ty § Ha e Hia s 21
BT A0 S A G o UG B A B S a9 B 8 (6 S Ui A sy &R A e
B U B A AT R A1 72 S 2 AT US S W AW 2, T 990 HE SUR - 2
T & AFS @ 3he & Thdl 2 | 354 U 21N 7T 92 2 6 Wol/ angrd & e Tareed ard
IR g ¥ 2 w9 B dfET & a5 & WH B 0 A B Fraaeg o o o | R
TAAE] & Helg 98 & F T90 Siad & FEif| $ & 8N 2 AR, JHEs T Jtes
AT, = 6 ([FH T4 @ Fof | SHEY IHEm & FAer § 9IA ®Y 3N I A9 Siad 92 8 q
B

(1)  7o98 % 9= @91 %1 5H8 o
(2) == A omie
(3) @a 9 TH EH amE THe

(4) == 9 WH B A e

[Question ID = 5122][Question Description = Q95_Laborwel_SHAAN_05Dec21_S2_Shift2]

A wWw N =

1 [Option ID = 20488]
2 [Option ID = 20489]
3 [Option ID = 20490]

. 4 [Option ID = 20491]

Topic:- Labour Welfare Set1_C



1)

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (3-VYASA) analvsed
the changes that take place in the body during Om meditation The study found “small but
statistically significant” reduction in heart rate during Om meditation. This, according to the
researchers, suggests a deep psvcho physiclogical relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Bome studies based on the analvsis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that looked at performance in
cancellation tasks (a psychometric test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single svllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by 3-VYASA on
sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Meditation benefits the :

(1) Body (2) Mind

(3) Spirit (4) All the these
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Read the passage carefully and answer the question that follows -

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (S3-VYASA) analvsed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant™ reduction in heart rate during Om meditation. This, according to the
researchers, suggests a deep psvcho physiological relaxation, which in turnincreases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that looked at performance in
cancellation tasks (a psvchometric test of visual perception and vigilance) in seventy healthy



subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by 3-VYASA on
sleep and meditation, it is said, meditation in manv ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Transcendental meditation uses :

(1)
(3)

Sleep mode (2) Sound or mantra

Music (4) Psycho physiological phenomena
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Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (S-VYASA) analysed
the changes that take place in the body during Om meditation. The study found “small but
statistically significant™ reduction in heart rate during Om meditation. This, according to the
researchers, suggests a deep psycho physiological relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown
that mindfulness meditation improves relaxation One study that looked at performance in
cancellation tasks (a psychometric test of visual perception and vigilance) in seventy healthy
subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to
meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by 3-VYASA on
sleep and meditation, it is said, meditation in manv ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.



What was discovered during Om meditation in the study conducted by S-VYASA?

(1) Reduction in Pulse-rate (2) Reduction in Vision

(3) Reduction in Heart-rate (4) All the these
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TeTqu’ S U TS | Al B AFHN T2 T2 T AT Efirelann & 3N Had war 8,
UH: TR g@dl & | g~ 92 o U1 T 3 o= A e Hare - & el 2, 9 g T 5 gue @
Hepa Tt &

fAep - ATasherdl (33 o) SAWerE! & [T 0 TR ed= - Uy 1 3 FHEe eq=as0
Y frfirelem ggar £ | FuY Fareerd fA9a) 5 e e (g T Habal § s o) §
FFSaTE ¥ H TS U g 5 — $8 a7 TS Tac] Fda01 (1 — U1 711 {6 FAehan & 9=
oy 1l &1 FegTe dEdd 2T 2 |

AT - g (T & 12 FArhm T T e eh = NS T 2 2 e e 3,
G0, U A, (RT3 edhal § 2 | =72 SIS fe (bl 3ER 0¥ & Hed $Y A7 fFan-2Een il
TS ST, Foree eaf= a7 99 & W 21T 2, S Sau-arer J He ol 2 | UH-SITH 2 T 3
SR T2 (Y M0 (& gyl - #=1 9 & (6 wHEa0 &8 A= 3 TR FEEs $5H 205
S (R 3 A Tae @ Foesl ¥ o 6 arar & | 89 e | A 2 & e g
T T BT e AT E |

TH—SIT SRT Y U 3feTa= o 3 £gdhayl & SRF @ IR TI77?
(1) TE-wAgAr 2 s
(3) wEE-WH FHT (4) T 99t

[Question ID = 5125][Question Description = Q98_Laborwel_SHAAN_05Dec21_S2_Shift2]

A W N -

4)

1 [Option ID = 20500]
2 [Option ID = 20501]
3 [Option ID = 20502]
4 [Option ID = 20503]

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (S-VYASA) analvsed

the changes that take place in the body during Om meditation. The study found “small but

statistically significant” reduction in heart rate during Om meditation. This, according to the

researchers, suggests a deep psvcho physiological relaxation, which in turn increases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Some studies based on the analysis of electroencephalographic (EEG) recordings have shown

that mindfulness meditation improves relaxation One study that looked at performance in

cancellation tasks (a psychometric test of visual perception and vigilance) in seventy healthy

subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation.

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to

meditate on a single syllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by S-VYASA on

sleep and meditation, it is said, meditation in many wayvs is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

What is the impact of mindfulness meditation according to EEG recordings?

(1) It improves relaxation
(2) It reduces relaxation
(3) It has no impact on relaxation

(4 It has negative impact on relaxation



AT Tens & e & To IR W 3 39 =

S & FAET (e O SITHH (TH-TH) & ST A 30 Sq=dm0 & 29 989 3 89 are
QR &1 (LRI T | a3 3 sHHa0 & 29 ged = 4 ' Bic] g HifEhy g i
FEEQ SN SIS | AgEAH F FFHN T2 T2 - I (el & Y Heg e 2, A
UH: TR ggdl & | g 2 o U I & = A W ware o S ot 2, 9 g TR 5 gun @
T ST & |

faer-AFershordt ($3 o) ifienst & (F2er o Senfya amg= = uray 71 & e sds
Y FATrelieu gl & | oY Fareery [q9a] - FHeie erFd (e d Habal & FHii-fad o) §
FFeaTE ¥ Ha e Ud e 4 — P Al 7 TS H T8 F1bau (a1 — ITa 717 {6 FAidhan & 93mmd
T FEAT @ e e el & |

aeara = g £ 6 Ty 3 - AFsh— @S g 2 & ford Hae 3,
Y01, U A, (RT3 Sedhal § 2 | =2 SIS i (bl e 0¥ &g Had $Y a7 fFan-2Ea 17
ST AT, s eaf= 7 49 & W 2167 2, A Hau-ae S Yur oAl 2 | G- rE g e 3
e w1 0% foRT 0 fAfi=T S7eram 5 F21 9 2 (36 samiaa 0 &3 A A THR Ml 7 21357
=1 (e = ariifies e & T=w I o T e # | 39 T ¥ T 92 & samas o Ay
N Y T AEE BT 2

2 St el % AR BAERT g = T W w2 7
(1)  z=d ffe 5ga 2 |
(2) o9 fafacio gz 2|

(3)  forfuefi w 2o = waE T8 w2 |

(4) T T8 69 BI-AE T9E 2l & |

[Question ID = 5126][Question Description = Q99_Laborwel_SHAAN_05Dec21_S2_Shift2]

5)

1. 1 [Option ID = 20504]
2. 2 [Option ID = 20505]
3.

4. 4 [Option ID = 20507]

3 [Option ID = 20506]

Read the passage carefully and answer the question that follows :

Studies by the Bengaluru-based Swami Vivekanand Yoga Anusandhana (3-VYASA) analyvsed

the changes that take place in the body during Om meditation. The study found “small but

statistically significant” reduction in heart rate during Om meditation. This, according to the

researchers, suggests a deep psyvcho physiological relaxation, which in turnincreases
alertness. The study also showed decrease in blood flow in the skin, which, too, is indicative
of improved alertness.

Bome studies based on the analysis of electroencephalographic (EEG) recordings have shown

that mindfulness meditation improves relaxation One study that looked at performance in

cancellation tasks (a psychometric test of visual perception and vigilance) in seventy healthy

subjects - some of them meditated before the task - found that performance in such tasks
improves after meditation

Researchers have demonstrated that the meditation leads to positive changes in midbrain
associated with vision, hearing, motor control sleep and alertness whether one choose to

meditate on a single svllable or a series of thoughts, Transcendental meditation, which uses a
sound or mantra, improves perception of hearing. In the various studies done by 3-VYASA on

sleep and meditation, it is said, meditation in many ways is similar to a deep state of sleep.
Bodily sensation is voluntarily reduced in both these conditions. However, unlike in sleep,
the level of awareness is significantly higher in meditation.

Whatis the impact of meditation on cancellation tasks?

(1) It reduces after meditation
(2) It improves after meditation
(3) It has no impact

(4) It has negative impact

AT Tl &1 eaHyd & T 3N He &l 9w 2 :

AT & T [FddE AN SFFHEA (TH-TH) &6 eI - S Seau & SR 9989 = 26 aTel



YITAAT Bl Td2A=007 TRAT | HEIIT  HH BRI & SN g5 < - WIC T HIEEDE FE H
TEE F TS TS | AgEA F AN T2 T - I e & Y Heg & &, e
UH: TR g@dl & | g 8 o U & = A W Hare o & S 2, @ O TR 5 gun @
e el & |

faer-AFershordt ($3 o) ifienst & (A2em o emenfya s = uray 71 & Faeh s
Y FATrelieu aadl 2 | HaY Fareery [A9a] 5 FHeie erFd (el Habal & s aiar) §
T H e U g3 3 — 6 @il 7 TR Y T2ol FArda0 &= — Oran @ f6 FHrds0 & 9=
T P @ e e el & |

AMerparal 7 g fF 2 f s 3 Te- s 3 S T 2 & e Hae 3,
L, U A, (RT3 Sedhal § 2 | =72 FIS Al (bl 3R 09 e Had $Y A7 fFun-2Ea 17
ST a AT, e eaf= a1 99 @ TN 21T 8, AN AAv-aieg J gur ol & | tH-arE e e 3
e R 03 foRT 0 {93 areaam & Fa1 9 & 136 sa=aa 0 &3 - 3 TR FHRraser S I 2137
=T E TR 7 A T B EenT v e # ) e a i ag E e T A
I FIL Fh AEE BT 2 |

FHEIE 2R T SRg o 1 TS BT B

(1) =gy | 398 HHT @0 7 |
(2)  TATSY H TH GUW R 2 |
(3) T HIE U9 A @l A |

(4)  TEF EIEEE THE EE E

[Question ID = 5127][Question Description = Q100_Laborwel_SHAAN_05Dec21_S2_Shift2]
1. 1 [Option ID = 20508]
2. 2 [Option ID = 20509]
3. 3 [Option ID = 20510]
4. 4 [Option ID = 20511]

Topic:- GP36_D1_SH1_Set2_A

1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfeTBT BT EAT6Igdd 31ERIeT B3 3R ofiA fow gest dr 3R ¢ :
ofta &t o1 afernt 3 4 fafdoot Tapeil (A, B, C, D) & 5 fafdioor aul 3 arcet vd arfereiait & zizen (Jwst ) & o 3
(M - araw, F - aiféromg)

oo — A B c D

| o M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 [3.5 [7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 |[4.7
2018 10.4 7.9 57 5.3 [5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 (6.9 7.6 [5.4 [7.9 [7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.



aef 2016 - 2020 @ Sizret ¥l A 3ii? Faxet B 3 qrerenl bl vizcr @ ik siaR S @3 :

[Question ID = 25314][Question Description = S2_qSNz_PG_GP36_Q01]
1. 440

[Option ID = 41256]
2. 445

[Option ID = 41257]
3. 450

[Option ID = 41258]
4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfereT &1 eAreIydd 31eRIol @3 3iiR ofid U yost &1 3R § ¢
ofi &t o1¢ enferaor 3t 4 fafdoor el (A, B, C, D) & 5 faftroor auf 3 arcrot wd arfereiail &t e (Jwsi ) & o
(M - s, F - aiféromg)

rpa — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 [B.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 [4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 76 5.4 79 [7.6

Which school has the lowest number of girl students enrolled during 2016-2020?
ad 2016 - 2020 o> Sizrel fopaa Fapet 3 oldifcpd SISl DI AT AT DA & ?

[Question ID = 25315][Question Description = S2_qSNz_PG_GP36_Q02]
1. A

[Option ID = 41260]
2. B

[Option ID = 41261]
3. C

[Option ID = 41262]
4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5




2019

6.5

10.7

7.4

6.5

6.3

4.3

6.5

6.8

2020

9.5

11.9

8.6

6.9

7.6

5.4

7.9

7.6

AIferpT I eAIeIgdd 31eRIT B3 3R ofld fou gt dr 3= ¢ :
ofid & o1 anfernt 3 4 fafdoor el (A, B, C, D) 3 5 faftroor aul 3 arcrot vd arferoiait &t e (Jwst ) & o 3

(M - sraw, F - aiferomg)

rpa — A B c D

| ad M F M F M F M F
2016 4.2 4.7 6.3 42 5.6 [3.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 [4.7
2018 10.4 7.9 57 5.3 [5.9 6.4 [3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 69 7.6 [5.4 79 [7.6

Which school has the maximum number of boys enrolled during 2016-2020?
adf 2016 - 2020 @ Sizret fpa Faper 3 sndifene areral & v aaifdis 3 ?

[Question ID = 25316][Question Description = S2_qSNz_PG_GP36_Q03]
1. A

[Option ID = 41264]
2. B

[Option ID = 41265]
3. C

[Option ID = 41266]
4. D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIferet o1 eAreIyda 3eRIol @3 3iiR ofid U yost o1 3R ¢ :
offax &t or¢ enferept & 4 fafdear @l (A, B, C, D) 3 5 faftreor auf 3 arcrol vd arferesil &6t ien (sl ) & o 3

(M - e, F - aiférog)

e — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Which school has the minimum percentage increase in total student enrollment (both boys and girls) from 2019 to 2020?




fop1 Fayer 3 2019 A 2020 a BKG) D el olEiDl (dIerd 3R dIferdIv Setl) 3 opotaa gferora afis % ?

[Question ID = 25317][Question Description = S2_qSNz_PG_GP36_Q04]
1. A

[Option ID = 41268]
2. B

[Option ID = 41269]
3. C

[Option ID = 41270]
4. D

[Option ID = 41271]

5) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIfermT BT eATeIydd 31eRIol @3 3i1R ol U yost o1 3R § :
ol & o1 afernt 3 4 fafdoor el (A, B, C, D) & 5 faftroor aul 3 arcrot vd arfereiait 6t e (Jwst ) & o 3
(M - s, F - aiférem)

rpa — A B c D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 [4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 69 7.6 5.4 79 [7.6

Which year has the minimum number of girls enrolled during 2016-2019?
ad 2016 - 2019 @ Sizrel b1 ad ondifcpa drferIsil Bl T RYetad & ?

[Question ID = 25318][Question Description = S2_qSNz_PG_GP36_Q05]
1. 2016

[Option ID = 41272]
2. 2017

[Option ID = 41273]
3. 2018

[Option ID = 41274]
4. 2019

[Option ID = 41275]

Topic:- GP36_D1_SH1_Set2_B

1) Which among the following is a MOOC platform?
forgstferRae 3f 31 let AT wat 31 31 3l (Ip) wiewist 3 ?

[Question ID = 25324][Question Description = S2_qSNz_PG_GP36_Q06]
1. Urkund/3x@s



[Option ID = 41296]
2. Jitsi Meet/ et sfic

[Option ID = 41297]
3. Coursera/@®RRr

[Option ID = 41298]
4. Google Meet/sprer 3fic

[Option ID = 41299]

2) ldentify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When someone in the meeting gives you access you will join it.
Choose the correct answer from the options given below:

3pIct dfic Aq Fdisol Dol @ AS! TAVT FAIU

A. D13 vez B3 3R B e o3

B. st ¢ sdisel facrm @3

C. st 5 diifeer @Is fder® o3

D. meet.google.com uz sme

E. s #iifesr 3 ®I$ Ul TaRid a1 3, dl 31U 3A sdfsel Dol

il fou s1u fepeul 3 A A& IR BT w6l HIfSIE ©

[Question ID = 25325][Question Description = S2_qSNz_PG_GP36_Q07]
1. A,B,D,C, E

[Option ID = 41300]
2. D,C, A, B, E

[Option ID = 41301]
3. E, A, B,C,D

[Option ID = 41302]
4. D,AEB,C

[Option ID = 41303]

3) Given below are two statements

Statement I: Operant conditioning was discovered by Thorndike.

Statement II: Classical conditioning was discovered by Ivan Pavlov.

In light of the above statements, choose the most appropriate answer from the options given below
il 3t ool fRu sre 3 ¢

Dl - | : a1 ygd srelderel &l IS edislss® of &l oft

ool - |l : aeniR¥rdl sigjaetol &l ST sarel Udciid of &b oft

SWRIFP Dol D 3Mrelld , ofld 3w s1e Rrapedl 3 A A8l Iar @I a6t HifSte :

[Question ID = 25326][Question Description = S2_qSNz_PG_GP36_Q08]
1. Both Statement | and Statement Il are correct/ermer | 3iiz || et 31 &

[Option ID = 41304]
2. Both Statement | and Statement Il are incorrect/@erwer | 3iiz || Sloil srcteT 3

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/emt | 318 & , fopog weret |l stera &

[Option ID = 41306]
4. Statement | is incorrect but Statement Il is correct/@emwt | s1ci &, fipoq et |l 3@t 8

[Option ID = 41307]

4) ldentify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding
B. Presentation of advance organiser

C. Presentation of study groups



D. Presentation of learning task or material

E. Strengthening cognitive organisation

Choose the correct answer from the options given below:
' usai sifsTolrssi? dfser’ @ fore fpam & 1@l @zt Usaret :

A. urgrerat sienet o Yrdefiaur

B. gsaia sifslorssiz @I gagedimun

C. 3IERIGT ST BT YFdcilpo1

D. sif2rer orI a1 ARE] D1 gedrila:ur

E. JisTolcaie FdI66l Bl ARDIBUT

sifa fou s1e frpeul 9 A A IR BT TRI6l HIfSIE ¢

[Question ID = 25327][Question Description = S2_qSNz_PG_GP36_Q09]
1. A, B and C only/d@ae A, B siiz C

[Option ID = 41308]
2. B, Cand D only/dae B, C sz D

[Option ID = 41309]
3. B, DandE only/@ae B, D siz E

[Option ID = 41310]
4. C,DandEonly/aae C, D sl E

[Option ID = 41311]

5) Match List | with List Il

List | List Il

Human ability per Gardener's theory of .
Skills

IMultiple Intelligence

|. Ability to appreciate and produce rhythm,

IA. Linguistic
tone, pitch and timbre
B. Logical-mathematical Il. Ability to handle long chains of reasoning
C. Musical lll. Ability to recognise plants and animals
IV. Sensitivity to different functions of
D. Naturalist

language

Choose the correct answer from the options given below:

Ikt -1 ot 3 -1l 23 Fafera Hifsie ¢

xeht -1 Rt -1l
fonter & g - oy ® Pigia S |
[AIToTd AVSUCIT)

|. cr1, drct, darea 3iiz 20Tl &t FHABeI Dot 3R IcUocol
A, eimaT fersimor JAdeft

ol b Aorer
B. aas - aifdra sdseht Il cieft aas - ofwemsii @l Hstreror &t Aoaar
C. iofla sideft Ill. ureal siiz Sftdl @1 usareror I Aerar
D. goferardt IV. simar & fafSioor oorif @ gfer Adcorefierar

offd v s1e fascul 3 A A1) 3= gfere ©

[Question ID = 25328][Question Description = S2_qSNz_PG_GP36_Q10]
1. A-IV,B-1l,C-1,D-1I

[Option ID = 41312]
2. ALB-1,C-1I,D-1V

[Option ID = 41313]
3. A-1,B-1I,C-1V,D-1l

[Option ID = 41314]
4. A-11,B-1V,C-1I,D-1

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?



‘IR - yeagrs forgorferRaa 3 A bt gofor A wHdfera 3 ?

[Question ID = 25329][Question Description = S2_qSNz_PG_GP36_Q11]
1. Subjectivism/fsrRiforsdrars

[Option ID = 41316]
2. Critical Realism/zwefigmcaes arrdadarg

[Option ID = 41317]
3. Empiricism/3f¢mojsraarg

[Option ID = 41318]
4. Objectivism/azqferodrars

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect.
Statement IlI: Sampling error occurs due to the violation of the principle of random sampling.

In light of the above statements, choose the correct answer from the options given below

il S werel fdu sre 3 ¢

el - | ¢ ersu - | gt ag 3t 3 S stera giewr uf¥acuett ot SRR 2 R sirar 3

ool - |l : aeRkew yferarier & Rigid o1 Sccite ®ol & BRI YRR e aXdl 3

SWRIFP Pl @ el #, ofld 3w s1e Ripedl 3 A A8l Iar @I wrI6t HifSte :

[Question ID = 25330][Question Description = S2_qSNz_PG_GP36_Q12]
1. Both Statement | and Statement Il are true/eret | 3ii2 || Steil rcer &

[Option ID = 41320]
2. Both Statement | and Statement Il are false/aerer | iz || Sloil sricer &

[Option ID = 41321]
3. Statement | is true but Statement Il is false/@emwer | 31 &, fbog et || sRIcT 8

[Option ID = 41322]
4. Statement | is false but Statement Il is true/memt | sric 8, fbog weer || =1 &

[Option ID = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below

il St werol fRu s1e 3@ uwep sifdraseret (Assertion A) @5 %u 3 iz grRr 3> @Rt (Reason R) & w4 3 :

atfdrperet (A) : forspd @I ARMMGIIDUT Dael AIcAD ERIGIL I ANd

@RI (R) : AIGIEAD 31€RIG1 3 fOPIIGIAD ADBUN DI IURIIST BT SIIeT &

SURITb Dol D 3l A, ofld fGu famcal 3 A 73l 3a= &1 wRIel Hifore :

[Question ID = 25331][Question Description = S2_qSNz_PG_GP36_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @ail 3 3 32 (R), (A) &t 3 wmen 3

[Option ID = 41324]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3iz (R) gleil 3 & weag (R), (A) &t 3 careen ot 8

[Option ID = 41325]
3. Ais true but R is false/(A) 3 2, afdsar (R) sricr 2

[Option ID = 41326]
4. Ais false but R is true/(A) srica 3, afdsor (R) e 3

[Option ID = 41327]

9) Which among the following are statistical packages?
A. SPSS

B. SAS

C. ANOVA

D. STATA

E. R

Choose the correct answer from the options given below:



forgsiferae 31 3 wlel A ARRIDI Tt 3 ?

A. SPSS

B. SAS

C. ANOVA

D. STATA

E.R
ofla feu a1g fawcul & A A8 a2 >I TRIol HIfSIE :

[Question ID = 25332][Question Description = S2_qSNz_PG_GP36_Q14]

1.

A, B, Cand D only/aaet A, B, C3ik D

[Option ID = 41328]

. B,C,DandE only/@ac B, C, D 3iz E

[Option ID = 41329]

. A, B, Cand E only/aaet A, B, C3iR E

[Option ID = 41330]

. A, B,DandE only/dac A, B, D 3l E

[Option ID = 41331]

10) Ethnography refers to

weollsbl @I I9RT 3 -
[Question ID = 25333][Question Description = S2_qSNz_PG_GP36_Q15]

1.

A research design that rules out alternative causal explanations of findings deriving from it/oad olter sifdibeu Sl 331 yre foreapu &bt dapfeuds dRur - dRl
ARSIl Pl afvfd wr &

[Option ID = 41332]

. An attribute in terms of which cases do not differ./v® a1 frrbI zfte 3 Bl 9 3R ol Bl &

[Option ID = 41333]

. A research method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of

particular culture, society or community /v oiter fafér Srwi oleraat fipft faforme Jixmpier, st = AHGRT DI avier Dot D fore FaRi crFd smafer ad 3 AEfD uf¥der
3 B g

[Option ID = 41334]

. A measure that is employed to refer to a concept when no direct measure is available/vd 3urr it fdp=ft sraemRvn @1 3M9RI R B0l D fere e s 3 Ssi

DI YeIST JURT UCTetI olal T 3
[Option ID = 41335]

11) Identify the correct sequence for successful communication.

ABe AYYUT D fere dl el usdrel :

[Question ID = 25334][Question Description = S2_qSNz_PG_GP36_Q16]

1.

Sender — Encode message — Channel — Decode message — Audience — Feedback/Jue — id9l Bl d¢ Aol Bl — Jolcl — AS9I DI fARIDdel DIl —
o — HIsID

[Option ID = 41336]

. Sender — Encode message — Audience — Channel — Decode message — Feedback/Jued — 309l ®I ¢ Aol Bl — YAl — olel — AS9A PI fARidAT

Bl — HIsID
[Option ID = 41337]

. Sender — Encode message — Decode message — Channel — Audience — Feedback/qud — 3id9r @1 d¢ Jddol doll — AT DI fARid> el Bl —

dolel — Yl — BIsID
[Option ID = 41338]

. Sender — Encode message — Channel — Decode message — Feedback — Audience/Jud — Jid9r @1 d¢ Jiddol BIell — dolcl — AG9I DI fRIDd6T Dol —

$lsd®d — gar
[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?

forgaiferRaa 3 3 olat a1 / 2t JAYuur o fere siifere / araravii aren 3 ?

[Question ID = 25335][Question Description = S2_qSNz_PG_GP36_Q17]
1.

Time/3wrRx

[Option ID = 41340]

. Personality/=ifepra

[Option ID = 41341]

. Power/authority/2rmr / yiferpre

[Option ID = 41342]
Culture/3izafer
[Option ID = 41343]



13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

o Afdell TlaRvI Jide @ BRIl D aR A Ridel @2 Wt 3 a8 #2 @I Sielol @ forw fafdieel @Rl @ i Ade Fenfid oo @ a6 3 arR ik gart

[Question ID = 25336][Question Description = S2_qSNz_PG_GP36_Q18]
1. Interpersonal communication/siadufepe ot

[Option ID = 41344]
2. Intrapersonal communication/sid:deifepe> iguur

[Option ID = 41345]
3. Mass communication/ser 3ot

[Option ID = 41346]
4. Didactic communication/3ugenca® AYuur

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology' form of communication?
forgatferRaa & A1 ®lel AT AYWUT 'Yel ailciisil’ geu I G101 3 ?

[Question ID = 25337][Question Description = S2_qSNz_PG_GP36_Q19]
1. Websites delivered to browser on search/id @ w2 gi3oR w2 3cftaz 6t a1 danse

[Option ID = 41348]
2. Websites that are advertised/fasufia &t s dazmse

[Option ID = 41349]
3. Social media sites/eret fiifSem 2mse

[Option ID = 41350]
4. Websites that are not alive/d da2irse St aifdper oidl &

[Option ID = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Quality questions promote deep learning.

Reason R: The quality of questions asked determines a teacher's level of success with a lesson.

In light of the above statements, choose the correct answer from the options given below

il 3t erel fRu s1e 3¢ uap sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRI (Reason R) & 4 3 :

afdrperet (A) : Jpvraarguf geet arser sifRPI B ST 3d 3

@RI (R) : yd 31u yeall &l suradr ure @ ar 3 g1 &bl Aberar @ Far ol forerifea o 3

IWRITD Bl D ATl 3, ofid Gu frpeul 3 2 1 IR b1 a™IaT Hifste ¢

[Question ID = 25338][Question Description = S2_qSNz_PG_GP36_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) glali 31 8 3z (R), (A) &t 3 wmen &

[Option ID = 41352]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) 3iz (R) gleil 3 & wog (R), (A) &t A& =ren ot 8

[Option ID = 41353]
3. Ais true but R is false/(A) 3 3, cifepat (R) 3RIT 3

[Option ID = 41354]
4. Ais false but R is true/(A) sric 3, difdvar (R) 1 2

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

ofi 3w sTu sroaye 3 3PICT FeTel UR Dol Y Fzear amesft ?
5, 16, 51, 158, ?

[Question ID = 25339][Question Description = S2_qSNz_PG_GP36_Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358]
4. 481



[Option ID = 41359]

17) Given below are two statements

Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by
23%.

Statement II: In 12 hours, the hour hand and the minute hand coincide 11 times.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

Do - | : Al et sRia B asaré sl disE & garor: 10% iz 20% gfyy & sl 3 @Y sad Sqwa 3 23 % gfy el
@eret - Il 1 12 & 3 & 6 FF 3= frere &t I 11 ar v e frercdt

WP DUl @ el 3, ofi fu a1 fraveul 3 A A& IXR @I RIa HifSre :

[Question ID = 25340][Question Description = S2_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement Il are true/ermr | iz || Sloll 3rcer 3

[Option ID = 41360]
2. Both Statement | and Statement Il are false/a@eror | iz 1l Qail 3rRIcT &

[Option ID = 41361]
3. Statement | is true but Statement Il is false/@ewer | 311 &, fbog et || sricT 8

[Option ID = 41362]
4. Statement | is false but Statement Il is true/memt | sric 8, fbog weer || 211 &

[Option ID = 41363]

18) Which of the following statements are correct?
A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25.

B. The HCF of 108, 288 and 360 is 18.

C. The least number which is exactly divisible by each one of the given numbers is called their LCM.
Choose the correct answer from the options given below:

fogetfeiRaa werll u? far @3 :

A. 3 yuifol @1 sprerwe 500 3 3iiz Iotdr 3iaR 5 3 I Jowd A v iz 25 3

B. 108, 288 3iiz 360 oI e WA 18 3

C. & 3¢ Al 3 A gD crI guia: RenfSra AeR! 818 A1 3a®! oy Feuact dscrdl 3

oifd fu a1 frpeul 3 A Al IR DI TR DIfSIU :

[Question ID = 25341][Question Description = S2_qSNz_PG_GP36_Q23]
1. Aand B only/dact A siiz B

[Option ID = 41364]
2. Aand Conly/@act Asiiz C

[Option ID = 41365]
3. Band C only/@aet B sz C

[Option ID = 41366]
4. Conly/aaa C

[Option ID = 41367]

19) The average of first 100 positive integers is
uadl 100 eeicad gulial oI s 3 -

[Question ID = 25342][Question Description = S2_qSNz_PG_GP36_Q24]
1. 50

[Option ID = 41368]
2. 51.5

[Option ID = 41369]
3. 50.5

[Option ID = 41370]
4. 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?

ddli # fpeel gferora ot wdt Io13i Bl 38 20 % bl g @1 foroyprredl @2 Soff ?



[Question ID = 25343][Question Description = S2_qSNz_PG_GP36_Q25]
1. 20%
[Option ID = 41372]
1

2. 2‘!5%

[Option ID = 41373]

3. 18% %

[Option ID = 41374]

4. ‘!6% %

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A. It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity
Choose the correct answer from the options given below:

AR HRI aB D Hoecs 3 forwafiRaa 3 A dlar A deret 78 3 ?

A. a5 foPTHGIICHD YdR BT dd 3idl 3

B. I8 MPIIGIHD YdR DI dd Il 3

C. g a1fordir efe A forfdaa ordl drar 3

D. 321 o161 A1 3pIeI @ WU A geilapd e sirer 3

E. s forsaod aifdbaes smagarasar @ AT MeR araRil A o1l foraerd &

ofid fou a1 fseal & A A8 IR BT wRI6T BT :

[Question ID = 25344][Question Description = S2_qSNz_PG_GP36_Q26]
1. A, Cand D only/@qe A, C 3k D

[Option ID = 41376]
2. A, D and E only/d@aer A, D siiz E

[Option ID = 41377]
3. B, DandE only/aac B, D siz E

[Option ID = 41378]
4. B, Cand E only/a@ac1 B, C 3R E

[Option ID = 41379]

22) Match List | with List Il

List | List Il
In a Square of Opposition Resultant
IA. If 'Some girls are shy' is True I. 'E' and 'I' propositions are Undetermined
B. If 'All men are Tall' is False Il. 'A" and 'O are Undetermined
C. If 'No crows are white' is True Ill. 'E' proposition is False; 'I' proposition is True
D. If 'some flowers are not fragrant' is False[lV. ‘A’ proposition is False; 'O’ proposition is True

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

et -1 et -l

(asaraedi & Rdieh agdsf 3 ) (aforrar)

A. R ‘@ crsfe omffcht 3 I 3 I. 'E' aiiz 'I' a5 ararer o ¥

B. af 'mft gry e ¥ ot 3 I1. A’ aiiz '0' aiforfra ¥

C. AR @Y wham ABG ordl ¥ AR 3 ||||. 'E’ arasararr orere 3; 1 erasara a8 3
D. @ "aze yeu Forfderd ol &' orer ¥ ||v. A’ craSarerR stcrT 3 "0 casarRT T 3

oftdl R a1e fascul 3 A A1) 3R gfere ©

[Question ID = 25345][Question Description = S2_qSNz_PG_GP36_Q27]
1. A-1,B-1Il,C-1V,D-1l

[Option ID = 41380]
2. A-1ILB-1V,C-1,D-1l



[Option ID = 41381]
3. A-IV,B-1I,C-1,D-1ll

[Option ID = 41382]
4. A-11,B-1,C-IV,D- Il

[Option ID = 41383]

23) Identify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
il fou s1e aa i Blol 1 3y 3 ?

3fl urerq SiolaR T3¢ SiolaR &

DI Pollasiol T SireraR ol 3

safere, @ Jolidict ureg sioraz ol &

[Question ID = 25346][Question Description = S2_qSNz_PG_GP36_Q28]
1. Fallacy of Illicit Minor/sreamd - uet - gy

[Option ID = 41384]
2. Fallacy of Illicit Major/ s - e - Sy

[Option ID = 41385]
3. Fallacy of Four terms/aqwus - giw

[Option ID = 41386]
4. Existential fallacy/siRarau® g

[Option ID = 41387]

24) When an unperceived fact is supposed in order to resolve an apparent contradiction in the presented phenomenon, which one of the following

pramanas is employed according to Advaitins?
S fep2 il g @celt A RRISTHIRT ®T AATETST Dol D fore et srgeast agr ol sropnfora fivn S 3, ad gl @ SRR fsifeaa 3 A b1 gamr w1 SuRiler v sier 3 ?

[Question ID = 25347][Question Description = S2_qSNz_PG_GP36_Q29]
1. Pratyaksa/ycust

[Option ID = 41388]
2. Anumara/aiejrel

[Option ID = 41389]
3. Arthapatti/srerfufer

[Option ID = 41390]
4. Anupalabdhi/siguetfder

[Option ID = 41391]

25) Given below are two statements
Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement II: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity.

In light of the above statements, choose the correct answer from the options given below

ofi &1 eror Ru sre 3 :

ool - | : sreperet Rigia @ yferarger 3 sRnRral a1 389 garr (I SiIeT) Yrd a1l 3

@l - | : 3reperrel Rigia & yferarcer 3 Rl @1 3g9a dac 3R dact siiuanfye fafteierdar @1 Jcnael ool 3
IR PG D 3MelID 3, ol fGu sre el 3 A Bl IR DI TRI6e HifsTu ©

[Question ID = 25348][Question Description = S2_qSNz_PG_GP36_Q30]
1. Both Statement | and Statement Il are true/erer | iz || Sloil 3rcer &

[Option ID = 41392]
2. Both Statement | and Statement Il are false/a@erwor | iz |l Qail 3RIcT &

[Option ID = 41393]
3. Statement | is true but Statement Il is false/@epr | 3= &, fboq @eet |l 3R &

[Option ID = 41394]
4. Statement | is false but Statement Il is true/@emt | sRIeT 8, fbog @erer | 3T &

[Option ID = 41395]

26) A Network Interface Card (NIC) contains



Seaas scadA o1 (et aré 1) 3 dar B -

[Question ID = 25349][Question Description = S2_qSNz_PG_GP36_Q31]
1. Domain address/sSer o3t

[Option ID = 41396]
2. |P address/3mstt ugar

[Option ID = 41397]
3. MAC address/wi © 3t (i) v

[Option ID = 41398]
4. Port address/uic vt

[Option ID = 41399]

27) The number of bits in IPv6 addressing are:
IPv6 wgfier 3 fopaar fargzt 3k 3 ?

[Question ID = 25350][Question Description = S2_qSNz_PG_GP36_Q32]
1. 32 bits/32 fcx

[Option ID = 41400]
2. 64 bits/64 Rzt

[Option ID = 41401]
3. 128 bits/128 Ricat

[Option ID = 41402]
4. 256 bits/256 fica

[Option ID = 41403]

28) Given below are two statements regarding Wireless Access Points (WAPs).

Statement I: WAPs are connected into the wired network at fixed locations.

Statement Il: The WAP receives and transmits data between the two wired LANs.

In light of the above statements, choose the correct answer from the options given below
ARICIA TR IR (Socyg U Ul) & der 3 off 3f deret fRu sme 3 :

deel - | 1 secy v ol forerff¥a Fem6ll R AR Ieb olcad A IF3S AA 3

@l - |l : Secy w Ul 3l dR - Jeb el © ol (cliaver UhRI oleaas) @ i 3e1 grd siik gt o 3
SWRIP Deell d 3irclld 3, offd e sre fameul 3 A 78l IR @I w6t BRI

[Question ID = 25351][Question Description = S2_qSNz_PG_GP36_Q33]
1. Both Statement | and Statement Il are true/@emwt | 3iz || Sl 3I~r &

[Option ID = 41404]
2. Both Statement | and Statement Il are false/a@erer | iz || Sloil srRicr &

[Option ID = 41405]
3. Statement | is true but Statement Il is false/®emwr | 3= 8, fopoqg et || sRII 8 |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/memt | srpic 8, fbog weer || =1 &

[Option ID = 41407]

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:
fodics @ an 3 ofly e R sre 3 :

A. 318 3c1 Uadg @ faafda oar 3

B. 321 Rorer @1 aftfa ool @ fere Jarvr gunel 3 siisT sar 3
C. s fafdrse PIRIc Bl e1 Aeiar 3

D. s3rop1 SURIIeI AR - Mf3a gunferil # off e s arpar 3

oifd fu sru frpeul 3 3 Al IR DI TR DIfSTU :

[Question ID = 25352][Question Description = S2_qSNz_PG_GP36_Q34]
1. A, B and C only/dae A, B siiz C



[Option ID = 41408]
2. B and D only/dact B 3iiz D

[Option ID = 41409]
3. Cand D only/a@aer C 3iiz D

[Option ID = 41410]
4. Aand D only/a@ae A sik D

[Option ID = 41411]

30) Match List | with List Il

List | List Il
Devices Example
IA. Input devices I. Radio frequency identification readers|

B. Direct data entry|ll. DVD
C. Output devices |III. Joysticks

D. Data backup |IV. Speakers

Choose the correct answer from the options given below:

It -1 ot g -1l 3 Fafera Hifsie ¢

et -1 et -1l
(ars¥er) (3c18201)

A. Rrish st (gorge Rarsaen) 1. ¥ ufteried aimeRftscberor Sl
B. sr¥ac 31 wdl I & & &

C. Bt afet (smege Barsdio I, sterfears

D. %1 &w - ara IV. setet

offd v a1e fscul 3 A A1) 3ar gfere ©

[Question ID = 25353][Question Description = S2_qSNz_PG_GP36_Q35]
1. A-1,B-1Il,C-1,D-IV

[Option ID = 41412]
2. AL B-1,C-1IL, D=1V

[Option ID = 41413]
3. A-NLB-1,C-1V,D-Il

[Option ID = 41414]
4. A-IV,B-1,C-1I,D-1ll

[Option ID = 41415]

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The
plant is said to be efficient, when BOD:

TR sffadistor Ruais (fa0h) smafdrse sier oNeret ki & PRI forsurcel oI U PRI ADAD & fopil i DI ad AgHET Dal Sl 3 Sid
st -

[Question ID = 25354][Question Description = S2_qSNz_PG_GP36_Q36]
1. Increases/sadl

[Option ID = 41416]
2. Decreases/=edt 3

[Option ID = 41417]
3. Remains unchanged/smafefa &t 2

[Option ID = 41418]
4. Increases for first 36 hours/uact 36 el 3 gt 3

[Option ID = 41419]
32) Over the past 100 years, the estimated rise of global sea level is by 10 to 25 cms or more. This is attributed to which of
the following?

A. Thermal contraction of ocean water

B. Melting of glaciers and small ice caps

C. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:

firwcr 100 auf 3 fea 3 23g Tz & 10 A 25 A a1 3if2res &bt giig Slet @I 3opsa 3 $ADT BRUIL 3 -
A. HBRIPERI SIet @I ardia - Jiddet

B. fBaercl sz o1y RBaAfdrar] oI RreEcren



C. 3ffcicivs & v b a1 B1 Uad a6l
D. Ferchizr sremisrur & ul¥ader
ofia f3u a1u faaseul 3 A I8 IR DI TR BRI

[Question ID = 25355][Question Description = S2_qSNz_PG_GP36_Q37]
1. B and C only/a@ae B sz C

[Option ID = 41420]
2. A, B and C only/dact A, B iz C

[Option ID = 41421]
3. B, Cand D only/daaea B, C sz D

[Option ID = 41422]
4. A, Cand D only/a@ae A, C sfiz D

[Option ID = 41423]

33) The main concept behind solar ponds to store the solar energy is
AR o1l D HUSRUT B ferg Al digAa & IS =T 3r@ervn 3 -

[Question ID = 25356][Question Description = S2_qSNz_PG_GP36_Q38]
1. Presence of sand in the pond/dret 3 are] @1 URI Siiell

[Option ID = 41424]
2. Fixed salt gradient from surface to bottom in the pond/aret 3 s 3 Act A cIavl & IR Uil BT URT el

[Option ID = 41425]
3. Uniform salinity of pond/areie bt oeb w6l cIauiar

[Option ID = 41426]
4. Presence of solar cells in the pond/drcia 3t ez et BT URI Siiol

[Option ID = 41427]

34) Disaster Management Act came into existence in
e gderel sif2iforent fipa ad sifrforifira fopem srm ?

[Question ID = 25357][Question Description = S2_qSNz_PG_GP36_Q39]
1. 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option ID = 41430]
4. 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

C. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

SPRUIferT @ 11 3uafdrse & foreIfeIRad acal ®1 IoId Urg Siret @ a6 @t 3 34 ¢
A. oPrI 3k ok

B. silstot

C. 8o & g0l 39

D. get siiz

E. @

il feu a1u famedl 3 A A8 IR @1 TRIel B :

[Question ID = 25358][Question Description = S2_qSNz_PG_GP36_Q40]
1. E,C,D, A, B

[Option ID = 41432]
2. C,E,D,B, A



[Option ID = 41433]
3. E,C,A, D, B

[Option ID = 41434]
4. E,C,D,B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
HRA 3 SAaAIR 19181 urgRIapdl 3 fordol - SIIHIDOl DI PRI PRYI 3 -

[Question ID = 25359][Question Description = S2_qSNz_PG_GP36_Q41]
1. High fee structure/3ca gee aoen

[Option ID = 41436]
2. Wrong perception of vocational education among students and parents/sIqi sii2 sifdismraci 3 cranRid forgn @ ar 9 skcld (Rl

[Option ID = 41437]
3. Lack of adequate infrastructure to impart Vocational education/cmanRs fSreir el It @ fore uRifd razizdolr aT 3eira

[Option ID = 41438]
4. Unavailability of large number of vocational courses/ast Iz 3 ARG UIGRIRAH! DI SiojucTistiar

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university
education for the maintenance of standards of teaching examination and research?

g Sit 2T siférforiar i forgaifcrRad 3 A ®iat 2t e 1918101 ULl 3R 9IIEr @ Hold Tolle ol D feru fArafdencry f9rgm @ Jathet 3R AoaRIoT A
Jdfera 3 ?

[Question ID = 25360][Question Description = S2_qSNz_PG_GP36_Q42]

1. Section 28/emr - 28

[Option ID = 41440]
2. Section 25/emr - 25

[Option ID = 41441]
3. Section 14/emr - 14

[Option ID = 41442]
4, Section 12/emr - 12

[Option ID = 41443]

38) What per cent of the children’s brain development occurs prior to 6 years?
6 ad &l 3 A uscl gl B ARTED @I fbae yferera Rt 8 sirar 3 ?

[Question ID = 25361][Question Description = S2_qSNz_PG_GP36_Q43]
1. 25%

[Option ID = 41444]
2. 45%

[Option ID = 41445]
3. 65%

[Option ID = 41446]
4. 85%

[Option ID = 41447]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling.

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self.

In light of the above statements, choose the most appropriate answer from the options given below

il 3l erel fRu 1w 3@ uep sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & g 3 :

aifdrperet (A) : grefiol sira 31 1811 T 329 AT SiTol YT Dol oldl oI dfced DI Pl Faxeil 19181 3 U 331 SPIA 3 Shldol @ fore TR ®on e
@RI (R) : yrelier sireflr 181 of guf sircarsiret SilR siedt - AP UR o R

IURIP Decll @ el 3, ofid fou frsedl i A A IR @1 aRIet HIfdre

[Question ID = 25362][Question Description = S2_qSNz_PG_GP36_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) clail &t 3 32 (R), (A) &t 3 wmen 8

[Option ID = 41448]



2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) clail 38t 3 woq (R), (A) 6l 3 =1 ot &

[Option ID = 41449]
3. Ais correct but R is not correct/(A) & 2 wog (R) &t ot 3

[Option ID = 41450]
4. A'is not correct but R is correct/(A) 3@ =gt 8 weog (R) &t 2

[Option ID = 41451]

40) Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement Il: Values needed for sustainable development cannot be taught in a school setting.

In light of the above statements, choose the most appropriate answer from the options given below

oflx &1 et Ru sre 3 :

@erel - | @ e - o @ fore Fapet Siiz sreamuel @ FRId6l Jfornfora iz Jferanfya gt smaga 3 3
@erel - |l : w1aa frer @ fore smavae e Faxell arararur # oéf Rram s Jawd 3

WP DUl d 3eld 3, ofid o frsedl i A & IR BT aRIet Hifdre :

[Question ID = 25363][Question Description = S2_qSNz_PG_GP36_Q45]
1. Both Statement | and Statement Il are correct/erwer | 3tz |1 el 31 &

[Option ID = 41452]
2. Both Statement | and Statement Il are incorrect/eer | 3l || Gl ket &
[Option ID = 41453]
3. Statement | is correct but Statement Il is incorrect/werer | 3@t &, fpog @ert || s &

[Option ID = 41454]
4. Statement | is incorrect but Statement Il is correct/@emwt | s &, fipog et |l 3@t 8

[Option ID = 41455]

Topic:- GP36_D1_SH1_Set2_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferfiac srerior @ earegde U iz ofld U 318 yeor ot I Sifvre :

33T &3 P UTal 312 G A Tuel D YJART D WU 3 ARG Sildel B IR @36l B YRR @ 3 3mu ofiy 16 @6 3 aldl 5 Jgaardt as
gosl ysdl 3 oo e1ct &1 s el ferRI SIu oo AT 361 3293l DI I @0l I YRIRT DAl 3, clfchol Y AT s & b a6 QAT =il Al 3
fopfl srgged DRI B Dot A I fBreror b siraoen 3 Siafes e BRI B! A oIl A Yoo UR G b fdaR ol fopar srm § aRI AT D
DT DI APIGIeT $HD! RIRRT BIAI 3 ad AT Yl Iodl & fob 3ad ura adl fafdree sia:aszor SA 3 Sl 3AD urd & sufdfa Faref o1 RBigia
? cifepol AT 3161 AAD D Tl fpfl vep Al A 36l 3a &I ulscust BA wear 3 e, AT YIrssl, A Yeged Bl 591 AT 3RUtE WU A
BRI sircaARifly @ar siiar 3 ? o= 1ol e &I ufvcust BA @ 3, d yferssT A Alerd 3, A Ysicd @ ATe6ll DI Ul DA oI 3, Al
3reH 1 YR o= 3 frRIhY d Rifs ared 3 ? 3, |, sia:mvl, 3ursiol, eI, gig, forgumar for:2ics U A o8 adid 3 Rerl gia s
clvT ORI ®3A  Fol 339Ul DI Yra Dol bl Aol ygfera 81 Aaddl & cifdbor 3z9a oI DI ol Deret A1 33 Yra @l dI ygferdl o1 w1 quior
aivIRl RIGeR I RRRI 18l B2 APl & U8 A [ AR dArdIcdyUT B 3 Sl 3 dId DI A 3 [ Iold MHRIT - ARl de IAAR D
R 3 Jordl stiaf¥es YR Sordd fammR, siraon 3iiz fogzn 3 forerives ara 3Kl ¥ Sers2u1 & fore afe arafdedar iz o siolfdpzn & e Ader
gl AR Sioparford alol @ TSRl Yeael 3R dcdplel Xl & al 3iforvfr 3iiz fawerar @1 uar o8l acien 3R (AfS 3361 A YA® aftp FAR 3 seoft
AbIviar & AT 36 @I S SR 5 v acar 9t 3 waar 3), off woifs 9if of A6 o1l war Al b 3ruet R ara @ Y ol AlE D Al DI off AT
3 6 SIb A DA oIdl Dl 8 SIA bl up dien dr 8

What is the main issue when man pursues hedonistic goals?
ST SIS JIAIST 39T DI YIH BIol DI YARI BN & d JI JET T=T Skl 3 ?
[Question ID = 25364][Question Description = S2_qSNz_PG_GP36_Q46]



1. Seeking pleasure self/¥a=i Ja arson

[Option ID = 41456]

2. Single course of choice/wel fadawea
[Option ID = 41457]

3. Multiple preferences/smole greifirsams

[Option ID = 41458]
4. One's own conscience/®IfRp &1 IR BT A:BT

[Option ID = 41459]

2) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferfRaa srerior @ eareigdd ug 3iiz oA 3w s1w yeot @t Iaz Sifdie :

33T 33 I Ulal 3R G A &cIel D GRIRT D WU 3 ARIRIP Sfidel bl AR B2ol BT IR D 3 3mU 9fiy a1 ws @ dlel b Jwarct as
geol godl 3 5 1t 8l A1s Jrel forn S {5 A9 $o1 329301 OB YIH 2ol BT YRIRT BT 3, cifdbol YIRA AT AT 3 fop as Va1 =il Araar 3 b
fop2lt 3D BRI B Ba A I frcrar bt Fvaen 3 SEfP 36 BRI B A ¥l A Yool WR 3 b AR ol b sRr & @RI Ao
id:201 BI APIGleT sADI R Bl 3 ad Az Yol Iodl 3 fb 3ud ur adl fafdrse sid:a2or BA 3 Sl 3AD urd 3 nffa Faref o1 Rigia
? cifepol AT 3161 ASND D oI fpil wap adfld> A 3ruel 3a &I ufswcust BA @ar 3 A8, AT Yfersst, A1 Yaged bl 591 AT RUSE WU A
BRI seaARIly sl SIiar 8 ? #oIWI 3Uoil FRgN DI ufdpcuoll DA DA 3, d Yfersol vy Aleld 3, d Yyied D ATeU6ll DI Udl DA PI 3, AT
e o1 fIYRI o= 3 fridbt a Rify arsd 3 ? 34, g:a, sia:av, 3ursiol, eI, gafg, forgumar for:ics U A €8 @¥id 3 RerRl Yia aaw:
cler oRf w2 ol 3291 D Y @l 6 Asst Ygferdi A Al T ARbor 329a @1 BIF 9t werot A1 3A I dat Bl ygferlt o1 B avfer
uRuIefl RIaeR &l R oIdl B2 ADdI 3 A6 AT [b AR ATAICATT B 3 Sl 3 S DI AYA 3 b Ioid MRl - iRl e IR D
R 3 Jorchl sriaf¥e YFAfeRI Joid R, sirdon ik Rpan 3 forafzes ama 8t ¥ Sereeur & e Afe arafdear siiz arera soIfegen @& S Ader
Agcael 3R oot ol & SSIRI Yeael 3H1? deblel 3l & dl siforvf sl frwerar ooT uar ol acien 3z (afe g3 A YA afep AR 3 saoft
Jchiviar @ e 36 a1 8 Sid b v acan sl 31 Tear 3), off aafs 9if of s o8l el alar b 3ol 3ilRara @ Yod il e @ 3IreTar dIs off I
32 T8 SIP A D oISl Bl 3 SIRY Bl uep ulen ol 3

A man's course of action is guided by
Jiora T b gRI APicidia aidl 3 ?

[Question ID = 25365][Question Description = S2_qSNz_PG_GP36_Q47]
1. Collective action/mfd® fgRm grr
[Option ID = 41460]
2. Critical evaluation of choices/fdmeul @ Jafigicad Heridol gRT
[Option ID = 41461]
3. Pursuit of self-interest/zaref grr

[Option ID = 41462]
4. The thought of social welfare /S weamr @ far grr

[Option ID = 41463]

3) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.



Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferRRan srerior @1 eaegd® U iz ofA U 31w yror o 3w SIS :

35T 331 I UTol 3R G A geel D YART D »U A ArIe Sider G IR w0l o1 JARI &d 3 34 9fiy A @s 3 Ji6l 6 Jraardt a6
geal godl 3 b sicl & A1s a6l forn ST fop oIS $o1 329301 Bl Yra 2ol DI GRIRT Bl 3, ciftpol Y IRAI A6 3 fob a6 Va1 o=l Araan 3 b
fop2tt s BRI B B A JPa Ricrar bt Fvaen 3 Safds 36 BRI W A oEl A Yool WR 3 ad AR oidl b sRm 3 @R o[ &
3BT DI APRIGIET $AD! RIRRT BT 3 ad AT Yl Iodl & fob IAD urda adl fafdree sia:as2or BA 3 Sl 3AD urA & fdfas Faref @1 Brgia
? <ifepol AT 3160 D D Tl fpil vep adld A 3ruel B &I ulvcust BA @r 3 A8, AT YISl A1 Yeged Dl 51 A 3RUTE WU A
ORI sircaAfly @ar sirar 3 ? Ao 1ol g &I ufvwcust BA @ 3, d yferssr A Alerd 3, A Yged @ ATeoll DI Ul DA P 3, AT
3ired o1 IfdIgrRI o= 3 Rridt a Rify arsa 3 ? 34, g4, sia:wev, 3ursiol, eI, iy, forgumar for:zics wu A €8 adid 3 Rerl Yika aw:
<l BRf w2 T $of 339AT DI YIA 2ol bl AsST Ygieri 31 Adddl 3 Afdvol 329U BT DI 9t Beret a1 3A Y Dol Bt ygfieril o1 d1E qvfor
afuIEll RIasrR dI RIRRT o1él B2 ADAI & As AL [P AR ArdIcdHUI DA 8 Sl A dId DI AGd & [P IoId MHRI - aIdraUT dor AR D
R 3 Jordl srial¥e yrgferi Joid frar, sirdon siiz fogzn 31 forerfes awa il ¥ Igeur & fere Afe arafdear iz #ea soifepn & dia Hder
AgeAel 33 SrgIIford Slol @ SSIRI YAl 31 dcblel 3l & dl siforvf sl farwerar o1 uar o1&l acien iz (Afe 33 A YA® cafep AR i saoft
AdIvfar & A1er 3 BT & SR 6 v acan spt 3 3o 3), off Foifs 9if o uIs orél el Al b sruet ¥ ara @ Y il Ale D IrcIdl B ot AT
3 6 SIP A P oldl DI 3 SIA Dbl U dien w2l &

The thoughts of men are decided by
=il D AR fpad grr forerifyd a3 ?
[Question ID = 25366][Question Description = S2_qSNz_PG_GP36_Q48]

1. Their environment/3old A2l grRI
[Option ID = 41464]

2. Their behaviour/36d ®@AsR gRI
[Option ID = 41465]

3. Societal tendencies/mnfoie ygferil grRI

[Option ID = 41466]
4. Their inner perception of the world/3Riz & R 3 3orch 3MiARD eRT gRI

[Option ID = 41467]

4) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forsaiferRaa srerior ol earolgdes ug 3iiz offd U 1w ygot o1 3R i ©

35T &3 I UTal 3R & A ol D JART @ ¥U 3 ARG Siidel Bl SRS Dol DI YRR Bt 3 31U ofig a6 @6 3 2ol 5 Faardt as
o5t gadl 3 5 8101 &1 s ol forn SIe {35 AT Sof 329301 Bl I d2el T YART BT 3, AAfdbol Y IR AE 3 fob as Y1 =il Avaen 3 o
fRp2ft 3D BRI B B2 A I frcrar b vraen & Gl 6 BRI B! A ¥l A Yool WR 3 ab R o8 a1 SR @ @R Ao
3BT DI ARG DI RIRRM BIAAT & dd AS Yool 36dl & b 3AD urd adl fafdree sia:apu1 HA 3 St 33 ura ¢ nffes Faret a1 Rigia
? cIfdpol AT 316 AD D FSIR fep=Al Uap A3l A 3[uel f&a &I ulmcdsit By DT & F3EM, AT YIIcol, AT Ygged DI 5T AT 3RUTE 31U A
BRI seaARIly sl SIiar 8 ? AW 3Uoil FRgN I uftpctoll DA B 3, d Yfersol A Aleld 8, d Yyied D ATeh6ll DI UAl DA BIN 3, AT
3IeH o1 AfBIYRI o= 3 fridb! d Rifyy ared 3 ? 34, g4, sid:awl, 3ursiel, eI, gig, forgumar for:ics u A €8 adid 3 Rerl Yia A
cller oRf w2 3ol 3291 D YA @l 6l Asst Ygierai A Al T ARbor 329a @1 BIF 9t werot A1 $A I Bt Bl ygferil o1 B avfe
af¥uIRll RIaeR bl RIS I8 B2 APl 3 U8 A b AP TrIcAHUT B 3 Sl $A dId DI A & [ Joid MRl - ardEaRuI den AR D
R 3 Jorehl sriaf¥e YFAfeRI Joid R, sirgen iR fopan 3 forerfves ama 8t ¥ Sereeur @ e Afe arafdear iz s sroIfegen @& & Ader
YA 31 IHIfOIA Blol D FSIRI Yeagl 3R dcpIcl 3Iar & dl siforvia 3iiR farserar @1 udr o8l acien 3iiR (AfS &l A YD cafeb AAR 3 seoit
Jdblufar & rer 3@ @1 8 S fop vep acan ot 3 2aan 3), off gaifsS 9if of Uz o1l a1 alar o5 sruol ¥ dra @ Yerd oil Ale D 3icTar DI 3t Hwa
32 T8 SIP A DI oldl DI 3 SR Dl U ulen ol 3

If the connect between reality and human response is direct, it will result in
AfS ar<afdadr 3R Alord Mol o i Ader YeAgt il 3, dl DI Ufevid S8 -

[Question ID = 25367][Question Description = S2_qSNz_PG_GP36_Q49]
1. Self-realisation/smeafify

[Option ID = 41468]
2. Acquistion of prestige/yfersor @1 3ursior



[Option ID = 41469]
3. Successful actions/mwet fegpme

[Option ID = 41470]
4. Useful theorisation/3uw=ieft Brgictaszur

[Option ID = 41471]

5) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferRad srerior @l eareIgde® U 31z ofi 3w 31w year @t Ja= difste :

315U &3 I UTal 3R g3 A Jeol D YARI D 31U A ABMRID Siidel Bl RIRSAT D6l DI JIRI DA & MU i A6 De W ol b JHat as
geal godl 3 b sicl & A1s el forn ST fop oIS $o1 329301 Bl Yra 2ol DI GRIRI Bl 3, ciftpol Y IR A6 3 fob a6 Va1 o=l Araar 3 fp
fopet 3D BRI B B A I Ricrar bt Fvaen 3 Safp 36 BRI B A oEl A Yool WR 3 ad AR oidl b sR 3 @R g1 &
3T DIVT DI APRIGICT $AD! RIRRT BT 3 a9 AT Yl 3odI & fob IAD urAa adl fafdrse sid:as2or BA 3 Sl 3AD urA ¢ ifdfas Faref @1 RBrgia
? cifepol AT 3160 D D Tl fopil vep Al A 3ruel B &I ufvmcust BA wr 3 A8, AT YIrsst, A1 Yeged Dl 591 AT U WU A
ORI sircaAf3ly war sirar 3 ? Ao s1ueil g &I ufswcust BA @ 3, d yferssl A Alerd 3, A Ygied @ ATeoll DI Ul DA P 3, AT
3IcH b1 AfBIYRI o= 3 Rridbt a Rify arsd 3 ? 34, g4, sia:wevr, 3ursiol, eI, iy, forgumar for:zics wu A €8 adid 3 RerRl Yika aw:
cioT BRI B & ol 359l DI Yra Dol bl AssT ygfern & Awdl & Afdpol 329d T DI 9Tt wperer A1 33 Y ool Bl yaferil a1 o1 avier
af¥uIRll RIaeR G RIRRAT 18 B2 APl & AU A {6 AR TrdlcdHUT B3 3 Sl A dId DI A & b Iord MR - ardreaRuI den IAAR D
R 3 Jorehl sriaf¥e YFAferRI Joid feR, sirdon iz Rpan 3 forerfzes ama axcft ¥ 3ereevr & e afe arafiedar siiz arera soIfigen & & Ader
geael 3R SrgHIford Sl & SSIRI Yeael 31 deeblel 3l & dl siforvf sl farwerar o1 uar ol acien 3R (Afe 33 A YA cafep AR 3 saoft
AdbIviar & 18l 3 6T & S b v acan st 3 waan 8), off Foifs 9if of AIs ol el Bl b sruet ¥ ara @ Y il Ale D Ircldl b1 off AT
3 6 S A DI oldl DI 3 SIA DI v dien mar &

The gist of the passage is that the human behaviour is dictated by
STET9I Bl AR A6 & fob Alora Fasr for$fora axar 3 -

[Question ID = 25368][Question Description = S2_qSNz_PG_GP36_Q50]
1. The harsh realities of the world/zR &t B3R arrdafdadsit grr

[Option ID = 41472]
2. Choices for pleasure/3Ra @ f@mcdl grI

[Option ID = 41473]
3. Seeking smugness in a false world/fear Sei 3t Jidbivfar srstor grRT

[Option ID = 41474]
4. Emotional vagueness/larcaads 3RUsedl GRI

[Option ID = 41475]






